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Question Number : 1 Question Id : 2752289939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. RICKETS
2. RELISH
3. RANGE
4. RADIATE
5. RACKET

Options :

1. #® 53421
2.9 54321
3. % 52341



4. % 51234

Question Number : 1 Question Id : 2752289939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. RICKETS
2. RELISH
3. RANGE
4. RADIATE
5. RACKET

Options :

1. % 53421
2. % 54321
3. % 52341
4. % 51234

Question Number : 2 Question Id : 2752289940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

E,GH,KLM, ,YZABC
Options :

1. * PQRST

2. % QRS

3. ¥ QRST

4. * PQRS

Question Number : 2 Question Id : 2752289940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiad sreR Jaar ¥ g g J1d &e:

E,GH, KLM, ,YZABC
Options :

1. ¥ PQRST

2. % QRS

3. ¥ QRST

4. % PQRS

Question Number : 3 Question Id : 2752289941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

INCREDIBLE, NCREDIBL, ,REDI, ED
Options :

1. ¥ NCREDIB

2. ¥ CREDIB

3. ¥ CREDIBL

4. ¥ CRDEIB

Question Number : 3 Question Id : 2752289941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad sieR guar & g Ug 31

INCREDIBLE, NCREDIBL,  ,REDI, ED
Options :

1. ¥ NCREDIB

2. ¥ CREDIB

3. % CREDIBL

4. % CRDEIB




Question Number : 4 Question Id : 2752289942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the words in a meaningful sequence :

1. Meter

2. Milimeter
3. Kilometer
4. Mile

5. Micrometer

Options :

1. % 54132
2. % 53412
3. % 15432
4.+ 52134

Question Number : 4 Question Id : 2752289942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eal ! I pH H Tafyd B

1. Hiex
2. fodHeR
3. fhaier

4, Higd

5. HTgehIHICR
Options :

1. % 54132
2. % 53412

3. % 15432
4.9 52134

Question Number : 5 Question Id : 2752289943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Neck : Tie

2. # Feet : Shoes
3. % Wrist : Band
4. ¥ Ankle : Watch

Question Number : 5 Question Id : 2752289943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt fiwedl A @ & e (Rfd % T THF 81 gTaiTd, T faeed 3 diF o1 aRE Tl 8| 39 fddhed o1 I &Y oY 30 ¥ 3T 8|
Options :

1. % TT: T

2. % aTGlﬁ

3. % Wﬁ‘é—s’

4. ¢ @ gl

Question Number : 6 Question Id : 2752289944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Mercury
2. % Nitrogen
3. # Chlorine
4. % Oxygen

Question Number : 6 Question Id : 2752289944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ URT

2. % ATgCIoH
3. % FIRM
4. % 3o

Question Number : 7 Question Id : 2752289945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # Lake
2. % Dam
3. % Pond
4. % Sea

Question Number : 7 Question Id : 2752289945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fimedl H @ & T [RfYd o 3 TUE &1 §TalTP, T faped 3/ diF o1 oRE el ¢ | 39 f[dhcd o1 I8 oY off 310 ¥ 3T B
Options :

1. % i

2. ¢ S Y

3. % dlclld

4. % g

Question Number : 8 Question Id : 2752289946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # DE: HI

2. % NO: RS
3. % VW: ZA
4, ¢ KL: PR

Question Number : 8 Question Id : 2752289946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl 7 @ & T g % I UM &1 g, T [Ahed 370 diF &1 a8 81 8| 39 ey o1 T & i 370 T 3T g |
Options :

1. # DE: HI

2. # NO: RS

3. ¥ VW: ZA

4, ¥ KL: PR

Question Number : 9 Question Id : 2752289947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

BEZ : PSN :: DWC : ?
Options :

1. ¥ QTE

2. % SLM

3. % TMX

4. ¥ RKQ

Question Number : 9 Question Id : 2752289947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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BEZ : PSN :: DWC: ?
Options :

1. % QTE

2. % SILM

3. % TMX

4. ¥ RKQ

Question Number : 10 Question Id : 2752289948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

KD :NA ::?

Options :

1. % LM:RV
2.9 QY : TV
3. ¥ PK:SM
4. % SD : VF

Question Number : 10 Question Id : 2752289948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT Ig B Sl Uy T &1 71 SIS ¥ HH ISR ¥ Tafdd ]

KD:NA:?

Options :

1. % LM:RV
2.9 QY : TV
3. % PK:SM
4. % SD: VF



Question Number : 11 Question Id : 2752289949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

PDG : MAD :: NRU : ?
Options :
1. ¥ KOR
2. % LNT
3. % LPS
4. % OSV

Question Number : 11 Question Id : 2752289949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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PDG : MAD :: NRU : ?
Options :
1. ¥ KOR
2. % LNT
3. % LPS
4. % OSV

Question Number : 12 Question Id : 2752289950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Igloo : Eskimo :: ?
Options :

1. # Horse : Mare



2. % Bear : Cub
3. % Nest : Bird
4. # Donkey : Bray

Question Number : 12 Question Id : 2752289950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
l.w'ﬂ}IST:Eh@_)[
2. % urq: RRIeR
3.« Oiga : ueht
4. % YT S

Question Number : 13 Question Id : 2752289951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if CONTINUOUS is coded as NUOUSITNOC, then what will be the code of INCLINED?
Options :

1. ¥ INEDLCNI

2. % NIEDINCL

3. % INDEINCL

4. % LNCIINED

Question Number : 13 Question Id : 2752289951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f3d Hie YT &, afd CONTINUOUS &I NUOUSITNOC & ¥ H Hif$d a1 TR 8, o INCLINED &1 H1€ 1 g
Options :

1. ¥ INEDLCNI



2. ® NIEDINCL
3. ¥ INDEINCL
4. % LNCIINED

Question Number : 14 Question Id : 2752289952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain code, LUXURY is coded as 558529, and PRESENT is coded as 9273774, then what will be code for "TRANSPORT" ?
Options :

1. # 423759825

2. ¥ 423739824

3. % 527339825

4. % 423379284

Question Number : 14 Question Id : 2752289952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe T RfYd B8 #, LUXURY &1 558529 & U § Sifed foodr TAT 8, 3R PRESENT &1 9273774 P =0 H difed fbar mar g, d
"TRANSPORT" & ToTT SIS &1 g2

Options :

1. % 423759825
2. % 423739824
3. % 527339825
4. % 423379284

Question Number : 15 Question Id : 2752289953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if land is called air, air is called ocean, ocean is called mountain, mountain is called forest, and forest is called desert,
where do sharks live?

Options :
1. % Air



2. % Forest
3. ¥ Mountain
4. % Desert

Question Number : 15 Question Id : 2752289953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (AfYd dis U H, afe YA &1 9 H8T1 1§, a1 B! HENITR 68T 7T §, HeNITR &1 Udd gl 71 §, Tdd ! o Hgl 71 8, 3R o
DI TR BT T g, Tl XM Hal Tgal &2

Options :

1. % 9

2. % g

3.+ gdd

4, % TR

Question Number : 16 Question Id : 2752289954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'il bi sa' means 'great large home ', 'pa sa la" means 'home is best', and 'la ho do' means 'Car is expensive'. What is the
code of 'best' in that code language?

Options :
1. * sa
2. % la
3. ¥ pa
4. # ho

Question Number : 16 Question Id : 2752289954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A Hre US| 'il bi sa' BT G{Q-f% 'great large home', 'pa sa la" I 31"&% 'home is best', 3R 'la ho do' T 31’?-]:% 'Car is expensive' dar 3y
BIS I H 'best' BT DIS T 572

Options :



1. ® sa
2. % la
3.¥ pa
4. % ho

Question Number : 17 Question Id : 2752289955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If CALIBER is coded as 6-3-15-27-5-15-21, then what will be the code for STRENGTH?
Options :

1. # 24-65-21-15-17-21-23-28

2. # 22-60-22-15-18-21-23-24

3. % 21-62-21-15-19-21-23-24

4. ¥ 22-60-21-15-17-21-23-24

Question Number : 17 Question Id : 2752289955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& CALIBER &1 6-3-15-27-5-15-21 & U | Difed a1 71 &, A STRENGTH BT HIS T G
Options :

1. % 24-65-21-15-17-21-23-28

2. % 22-60-22-15-18-21-23-24

3. % 21-62-21-15-19-21-23-24

4, 22-60-21-15-17-21-23-24

Question Number : 18 Question Id : 2752289956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing out to a lady, Preeti says, "She is the daughter-in-law of the paternal grandmother of my father's only son". How is the lady related to
Preeti?

Options :
1. ¥ Mother



2. % Sister
3. % Daughter
4. # Aunt

Question Number : 18 Question Id : 2752289956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Higell BT 3R IRIRT HRd g, W Fgdll &, "8 R U001 & 3l 9 BI aTal D1 9 " | Higen Wi ¥ oy Hefdd g2
Options :

1. " HIdl

2. % dg

3. % A

4. % Il

Question Number : 19 Question Id : 2752289957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five friends are standing in a row adjacent to each other facing the same direction. Sam is standing next to Pradeep but not Tanveer. Kuldeep is
standing next to Rakesh who is standing on the extreme left and Tanveer is not standing next to Kuldeep. Who are standing adjacent to Sam?

Options :

1. # Pradeep and Tanveer
2. ¥ Kuldeep and Pradeep
3. % Rakesh and Pradeep

4. ¥ Only Pradeep

Question Number : 19 Question Id : 2752289957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U9 GId U &1 G & ATHA HE B U GO & S A U I A s ¢ | USIT & 919 H TH WS ¢ Afch aaR ol WSl ¢ | Hag g b
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Options :

1. % UdIY 3R adR




2. ¥ HAC 3R U™
3. % DY IR Y
4. ® Haq Yy

Question Number : 20 Question Id : 2752289958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a bike show, seven different bikes i.e. Splendor, KTM, Pulsar, Royal Enfield, Fazer, Passion and Activa were displayed in a row, facing north
such that:

1. Splendor was to the immediate right of Activa.

2. Activa was fourth to the right of Pulsar.

3. Royal Enfield was in between KTM and Passion.

4. Pulsar which was third to the left of KTM, was at one end.

If a person is standing behind the bikes, then which bike will be at the right most end from his perspective?

Options :

1. # Activa
2. ¥ Fazer

3. % Splendor
4. % KTM

Question Number : 20 Question Id : 2752289958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 915 U1 &, I1d fafte 15 It TR, KTM, TRR, JTd TThIcE, ThoRk, UM 3R Ufdedr & Us I | Ueiid fovar mar o, fogat
1. TfeR Ulaedr & g aife 3R ATl

2. Ufgedl TRR & <18 3R Y TF W At

3. 3T TIBITE KTM 3R U3 & o9 Tl

4. TRR Sl KTM & d18 3R ™t off, T 3R TR U7

gfe ois ufad a1 & NS TS5, A ITP! e T i Il §15 gad g1fig 3id H grfle

Options :

1. % Ufgear

2. ¢ TR




4. % KTM
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Question Number : 21 Question Id : 2752289959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Following are the qualification for the position of a software developer in a software company.
The candidate must -

1. be an engineering graduate with at least 75% marks.

2. be not less than 24 years and not more than 35 years of age as on 1st August, 2020.
3. is a postgraduate in management with atleast 70% marks.

4. is willing to pay Rs. 1 lakh for training which would be refunded after training.

However, if a candidate fulfills all the above mentioned criteria,

A) except (4), but is willing to pay Rs. 50000 and has obtained at least 80% marks in his post graduation, the case may be referred to the
Mananger of the company.

B) except (1), but has an experience of working atleast 2 years as a backend developer, the case may be referred to the CEO.

Rekha graduated as an IT engineer in 2017 with 85% marks. She completed her MBA in 2019 with 82% marks. Rekha was 22 years old when
she graduated. Rekha is a fresher. Rekha belongs to a poor family and can pay only Rs. 50,000 maximum. If the job interview is on 5th
September 2020, then Rekha will be:

Options :

1. # Selected

2. # Rejected

3. ¥ Case will be referred to the manager
4. # Case will be referred to the CEO

Question Number : 21 Question Id : 2752289959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IedTR HUHT H AR SIAWR Ue & fou Fufafed g g

IHITAR Pi-

1. BH I BH 75% 3! & 1Y et Jrde g1 gi|

2. 1 3T, 2020 TP 24 T Y HH 3R 35 T4 I AP 31 7! g1 AT

3. ATH 70% 3feh] &b 1Y Y= T Hldh R 811 AeT|

4. UTRT&01 & oI | a9 ¥UY 37 & fofu AR 8 il ufRrefur & a1 a1y fwar s |

eIl af¢ ®is IHGaR SWRIad Gt AFES! & T a3,

A) (4) P BISHR, AfB 50000 FUY 3R 3T FABIR & HH J HH 80% 3 UG 81, A HU &b YSe® ol Yafid fbar o IHhar g



B) (1) P! BISHR, At IHUS STAWR & U H HH J HH 2 I8 B B BT AT BHT AT, AHAT CEO & VTl o Wb 5 |

T 2017 H 85% 31 & 1Y IT SMATIDT b T T FIqH (1| I 82% 31 &b A1 2019 T MBA T fobdlT | 19T o 22 T8 1 2,
9 ST AP P IUTY YT B | @1 T IR g | 3@ UH RIS IRAR J § 3R Had SAHaH 50,000 BT BT YA HR Fdbell g | A 5
IR 2020 BT Bt & foIT Fevag gh , at ¥@T gft:

Options :

1. % T9gfad

2. % 3[&ihd

3.« USY® DI HHAT Tafid foear S
4. % CEO &I A e id fopar Sma

Question Number : 22 Question Id : 2752289960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, two statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement
is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statement.

Statement : Some books are pens. No pen is a pencil. All pencils are erasers.
Conclusions:

I. Some erasers are pencils.
II.Some pencils are pen.

Options :

1. ¥ only I follows

2. % only II follows

3. ® both I and II follows

4. % Neither I nor II follows

Question Number : 22 Question Id : 2752289960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AUy I, 3 HYF AU U g, ForTes a1 &l fFAepd 1 8iR 11 AT 7 & | I8 A gU foh oy & 9t STHeR! 9 §, & fsw sl &1 T ary
fIRaIyor HX SR FeiRa B 6 T HU= T < 715 TR § ¥ B off difee w0 § iR Fid ©0 I 38R0 SR g |

HYT: $3 [P S & | HIs Had IR T8 8 | gt iRia s |
fsep:

1. 96 39S IR B

II. $3 IR sar g

Options :

1. ¢ Had [ IR0 Rl §

2. % HAd [1 IR0 Hd &

3. % [ 3R 11 ST SFIERUI xd §
4. % 1 3R 8 11 SR Rl §

Question Number : 23 Question Id : 2752289961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given followed by three course of action numbered I, I and III. Assuming that all information in the
statement 1s true, analyse the three actions together and determine whether any of them logically and definitely follow(s) from the information
given in the statement.

Statement: Many students have failed in matriculation exam due to out of syllabus questions in one of the subject.

Courses of Action:

I) All students who have failed must be allowed to take supplementary exams.
IT) Action must be taken against those who are responsible for such a faulty question paper.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows

4. % Neither I and II follows



Question Number : 23 Question Id : 2752289961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AUy H, HY a1 T § fTIh 91¢ SRaTs & i o H 1, 11 3R 111 €1 718 81 I8 A4 gU [ &3 T 9t THaR! 9d 8, 19 SRars &
% B U 1Y fazawor o3 3R Ruiia & & o1 w3 18 THaR 8§ I 31 o arfhe 0 9 &R fAffd T § saRu arar |

HY: Tl uep fawg & ureushy & 916R & U §H & BRUI Hhs 1 Hied TIE H S%hd 38 o
HRATS DI HH:

1) Tt B S S X6 & 36 R TG o 1 Al &f ST 3Ty

1) 39 A1 o RIS HRATS &1 o1 1R Sff 39 RE & aIoYUl Uy U & g foiieR ¢ |
Options :

1. % $Had | IR0 HRAT §

2. % Had I 3IERU BT §

3. ¥ 1 3R 11 GIFT AR % §

4. % F1 3R TE I SR BT §

Question Number : 24 Question Id : 2752289962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, two statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement
is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statement.

Statement : Some alpha are beta. Some beta are gamma. Some gamma are delta.
Conclusions:

I. All delta being alpha is a possibility.
II. Some alpha are gamma.

Options :

1. ¥ only I follows

2. % only II follows

3. * both I and II follows



4. % Neither [ nor II follows

Question Number : 24 Question Id : 2752289962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 o 8, 1 Y U g, foraeh st <) s 1 9fR 11 QU T 1 9% A §U % ey J Tl Tt W €, & S bt O W
fIRayor &% SR Fuild B {6 1 Hu= T < 715 TR # 9 B off difhe U § iR FfYd ©U J S ERu SR |

HYT: $S (BT AT ¢ | FS SIeI THI g | $S TH Seel g
fsep:

1. g1t ST P 3BT B BT G & |
1. T BTG

Options :

1. ¥ $HId | IR0 FRAT §

2. % Had I IRV HRT §

3. % 1 3R 11 G SER0 PR §

4. % 1 3R B 11 STAR0T IRl §

Question Number : 25 Question Id : 2752289963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes in options :

Assertion (A): We slip while dancing on a shiny floor.

Reason (R) : Friction is less on a shiny surface.
Options :
1. ¥ Both A and R are true

and R is the correct
explanation of A.

2. % Both A and R are true
but R is not the correct



explanation of A.
3. # A is true but R is false.
4. % A is false but R is true.

Question Number : 25 Question Id : 2752289963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feum gy #, 3ifiidem (A) 3R BRI (R) & T4 H ffed QYA 8| faweul & fqU T s & SR 31971 IR Fifgd &%
TUFHYT (A): BH THHI BRI IR T Hd gU [t oTd g |

HRUT (R): THHER I8 TR IYU HH g g |
Options :

|.¥ ARRIT TG R R, A HT gl WHIH g |

2. % T A IR R I 8 AP R, A BT et WHH0 Te 2|
3. % A I g PR FTT B

4. % A I E APTR I B

Question Number : 26 Question Id : 2752289964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % 961-31
2.9 2301-49
3. % 1225-35
4. % 1849-43

Question Number : 26 Question Id : 2752289964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3u MU faewedl & O o Uep Figd a¥ior ¥ 90 § | gTailids, U fdshed 31 <l &1 oRE 7ol & | 39 [dded &1 aa+ &< il 37 ¥ (e g |
Options :

1. % 961-31

2. ¥ 2301-49

3. % 122535

4. % 1849-43

Question Number : 27 Question Id : 2752289965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series:

40, 43,52,79,160,
Options :
1. % 255
2. % 343
3. % 290
4. ¥ 403

Question Number : 27 Question Id : 2752289965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad e gaar # qu ug I1d &

40, 43,52,79,160,
Options :
1. #* 255
2. % 343
3. % 290
4. % 403

Question Number : 28 Question Id : 2752289966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

11:1330::15:7?
Options :
1. % 3240
2. % 2465
3. ¥ 3374
4. % 4231

Question Number : 28 Question Id : 2752289966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAdHed T 997 B S ik UG ¥ 341 UHR ¥ Yafdd g fo UhR ¥ 3R UG Ugd Ug ¥ Hafed g

11:1330::15:7?
Options :
1. % 3240
2. % 2465
3. ¥ 3374
4. % 4231

Question Number : 29 Question Id : 2752289967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a group of humans and their pet dogs, the number of legs are fourteen more than twice the number of heads. The number of dogs are:
Options :

1. %5

2.9 7

3.% 10

4. % 12



Question Number : 29 Question Id : 2752289967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATl 3R Ik UTAq il o T H, TR &1 AT AIGE & Sl R P G U SN[ ¢ | Hll o1 G |-
Options :

1. %5

2.9 7

3.% 10

4. % 12

Question Number : 30 Question Id : 2752289968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between lawyers, engineers and male?
Options :



Question Number : 30 Question Id : 2752289968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad # 9 &1 91 o SR gobid, ST 3R T3 & o1 & Yait B! Ta 33T <=1l 82

Options :

.©o

Question Number : 31 Question Id : 2752289969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents people who can speak Spanish, square represents people who can speak German, circle represents
people who can speak English. Which set represents people who can speak either German or Spanish or both but not English?



/8 [c

G

Options :

1. ¥ A+B+C+G
2. ¥ A+B+G

3. % A+B+D

4, % B+C+E+D

Question Number : 31 Question Id : 2752289969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaa srefa &, Brys 37 @it &1 ufafAfia wrar 8 S W S Iad &, 37 39 arll &1 Ui &l § S o §id 9 g,
%m%qmﬂ%m%@mwm%ﬁm@zwaﬁwﬁﬁfﬂam%aﬁmaﬁﬁqm@ﬁmmﬁaﬁw '

/& [c

G

Options :

1. ¥ A+B+C+G
2. ¥ A+B+G

3. ¥ A+B+D

4. % B+C+E+D

Question Number : 32 Question Id : 2752289970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of people in a colony who like reading books, playing cricket and cooking. There are 120 people in
the colony. How many of these people do not like any of them?

Cooking Playing

A
NEY,

Reading Books

Options :
1.¥2
2. %8
3.% 7
4, % 4

Question Number : 32 Question Id : 2752289970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU T 377 3T H U BIadl-t b ANl o1 TS B ST § Sl fpare U, fhabe TaT 3R @M ST UHG HRd & | Srai-l #/ 120 T
g1 ST 9 fora AN 1 390 @ 2 o wRig 8 82

=TT ST Torthe Jer T

o
(N
o/

Trare U

Options :
1.¥2



2. % 8
3. %7
4. % 4

Question Number : 33 Question Id : 2752289971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.

Options :

o




3.¢

>

Question Number : 33 Question Id : 2752289971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I o ed o7 T8 B o IR B T I THR U T&fid § ol gusl §1d el §d 9 Yafed g

Options :




2. ®
3. ¢
4, %

Question Number : 34 Question Id : 2752289972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

e

| | |

li 0O 0O oo glp_o
& a (4] ] E

Options :

1. # Image B

2. ¥ Image C

3. # Image D

4. % Image E



Question Number : 34 Question Id : 2752289972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o a1 fadwed sRae & 7Tad spid |2

S e
‘ | O

'_ I'| i =

& a [ &}

Options :

1. % BdB
2. ¢ Bfd C
3. % BfdD
4. % JfAE

Question Number : 35 Question Id : 2752289973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

X | =
XJIIF)IO

Options :

X

1. ¢




2. ® _,_
O
4, % @

Question Number : 35 Question Id : 2752289973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

froffad 7 3 o 0 SR 3l Uy 3fa B 4R BT T el 82

X |+
XIIF)IO

Options :

X

1. ¢




2. % _,_
O
4, % @

Question Number : 36 Question Id : 2752289974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures completes the question figure?

?

-
LI

Options :

1. ¢




Question Number : 36 Question Id : 2752289974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfaRad # @ B O SR 3Mhfa U 3Mpf BT R Bl 82
?

-
L

Options :

1. ¥




Question Number : 37 Question Id : 2752289975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is the water image of the question figure?

©

[]
Options :

L« ©




Question Number : 37 Question Id : 2752289975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed & 3 & I Uy sefd & oid 3fd 82
©

[]
Options :

<L ©




oL/ ©

Question Number : 38 Question Id : 2752289976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :

X




Question Number : 38 Question Id : 2752289976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 718 IR 3T T, I THIA BT Ig9 o3 forgs U 3iapfa fodafafka gl

Options :

X




Question Number : 39 Question Id : 2752289977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cubes in the answer figure can be made based on the unfolded cube in the question figure?

*

* %

*

* * %

* % *
%* k%
* %
* Kk
* kK

Options :



% /%
*
* % % **
* %
|, %
*
*%
* %
+*
2. %
* *
*
*
* %k *
* %=
3. %
*
*
w
% % %
* % K
4 %

Question Number : 39 Question Id : 2752289977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty 3MHid H Tahe fhU gU T & SMYR TR IR AP B FUfaRad & ¥ S A1 g S911 o Ihdl 82




*
* %
*
* & *
% & *
* % %
* %
* % *
* k%
Options :
* %
#*
* k%
* %
1. ®
*
* %
*
2.9
& *
*
e
* %
3. %




Question Number : 40 Question Id : 2752289978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to make the question figure?

/

L P

Options :

1. % D




Question Number : 40 Question Id : 2752289978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 ®F T SR AH1d Ue &I Uy AHId 91 & o ST S ahd 82

1%

A

Options :

1. % D




|

3. # ]

]
4. % D

General Awarenessl1

Group Number : 3
Group Id : 275228365
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl
Section Id : 275228566



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228657
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752289979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dollu Kunitha is a traditional dance form famous in which of the following states?
Options :

1. * Gujarat

2. % West Bengal

3. ¥ Karnataka

4. % Maharashtra

Question Number : 41 Question Id : 2752289979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIggpar fFafafad 7§ J fey wog & ufiig uRuR® Ja & u g2
Options :

1. #= J[eRId

2. % OfYH §I

3. ¥ FAICH

4. % HeRIY

Question Number : 42 Question Id : 2752289980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following folk dance is not associated with Tamil Nadu?
Options :

1. ¥ Chhau

2. % Mayilattam

3. % Therukoothu

4. % Kummi

Question Number : 42 Question Id : 2752289980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ®F 1 Al T aid 18 ¥ J8T 781 /2
Options :

1. ¥

2. % ORyded

3. % RPpg

4. % pHHl

Question Number : 43 Question Id : 2752289981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Natya Shastra speaks of Eight Rasas. One of them is Bibhatsa. It translates to
Options :

1. ¥ Humorous

2. ¥ Heroism

3. # Fear

4. ¢ Disgust

Question Number : 43 Question Id : 2752289981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ted TR 3176 I BT JUH Hadl g1 390 & § Th S1H 8 | TIHT 3ale g gl
Options :

1. % grqul

2. % IE9

3.8 R

4. ol

Question Number : 44 Question Id : 2752289982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Saga Dawa is one of the major festivals associated with which of the following states?
Options :

1. ¥ Meghalaya

2. ¥ Sikkim

3. # Tripura

4. % Nagaland

Question Number : 44 Question Id : 2752289982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ool ot 8 9 g 9 v AigRI & 9 U, AT oTaT 8T §3 82
Options :

1. % AUy

2. ¢ Rfdmpn

3. % B

4. % 9RICIUS

Question Number : 45 Question Id : 2752289983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gross National Product (GNP) =



Options :

1. # Gross Domestic Product - Depreciation

2. #® Gross Domestic Product - Net Factor Income from Abroad
3. ¥ Gross Domestic Product + Net Factor Income from Abroad

4. #® Gross Domestic Product + Depreciation

Question Number : 45 Question Id : 2752289983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el AP IJdTE = |

Options :

1. % Ghd I IUTG - Teg™

2. % Gohdl IR IUIE - {46 A Y PR 31
3. ¢ qHd W IS + (IS F Yg RS 3
4. % FHd O 3G + g™

Question Number : 46 Question Id : 2752289984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the amount of funds that the banks have to keep with the Reserve Bank of India.

Options :

1. % Cash Reserve Ratio
2. % Repo Rate

3. # Reverse Repo Rate
4. ¥ Bank Rate

Question Number : 46 Question Id : 2752289984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferl 1 M & o dobl 1 YR Rod e & g 3@+t Bl 6 |

Options :



1. ¥ e SARET U
2. % I

3. % Rad 3o ¥e

4. % 96 R

Question Number : 47 Question Id : 2752289985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021-22, the customs duty on raw silk and silk yarns has been increased from 10% to .
Options :

1. % 20%

2.9 15%

3. % 18%

4. % 12%

Question Number : 47 Question Id : 2752289985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021-22 & oI B UIYUN & AR, Fed I SR I I TR G Yo 10% JTGIHR R AT T 7|
Options :

1. % 20%

2.9 15%

3. % 18%

4. % 12%

Question Number : 48 Question Id : 2752289986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

National Bank for Agriculture and Rural Development (NABARD) was founded in
Options :

1. * 1988



2. % 1993
3. %1982
4. % 1975

Question Number : 48 Question Id : 2752289986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT B SR A1 AT o (ATSTS) BT RITTAT EEFRIERIT
Options :

1. * 1988

2. % 1993

3. %1982

4. % 1975

Question Number : 49 Question Id : 2752289987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following instruments is used in aircrafts for measuring altitudes?
Options :

1. ¥ Altimeter

2. % Ammeter

3. % Anemometer

4. % Barometer

Question Number : 49 Question Id : 2752289987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoad § I f5g IumRur &1 STNT $Harg AA & e argarl & fan S g2
Options :

1. It

2. % 3HIR



3. % Ugq-ov-ATd
4. % R

Question Number : 50 Question Id : 2752289988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following acids is not an example of a weak acid?
Options :

1. % Acetic Acid

2. % Formic Acid

3. # Carbonic Acid

4. ¥ Nitric Acid

Question Number : 50 Question Id : 2752289988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad ol § I ®F 1 HHIR 3 BT 3aTex0 1o 67
Options :

1. % URifde st

2. % IH® 3

3. % PIaHD

4. ¢ A13fch 3T

Question Number : 51 Question Id : 2752289989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Vitamins is also known as Pyridoxine?
Options :

1. ¥ B2

2. ¥ B6

3.% C



4. % A

Question Number : 51 Question Id : 2752289989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefed faeTfia # 3 fo usRSIRi %81 S 82
Options :

1. % B2

2. ¥ B6

3.% C

4. % A

Question Number : 52 Question Id : 2752289990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The SI unit of Resistance is

Options :

1. % Watt

2. % Ohm

3. % Joule

4. % Pascal

Question Number : 52 Question Id : 2752289990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UfeRIY P SI 3T gl

Options :
1. % dlc
2. ¥ 3|
3. % 9[dd
4, ® Ul



Question Number : 53 Question Id : 2752289991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following does not belong to phylum Aschelminthes?
Options :

1. ¥ Round worm

2. % Hook worm

3. ¥ Tape worm

4. % Pin worm

Question Number : 53 Question Id : 2752289991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proferfed § 3 3191 90 e erie 3 dafta 74 &
Options :

1. % TPy

2. % G Y

3. ¢ BIAl HiH

4. % fOarH

Question Number : 54 Question Id : 2752289992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kunchikal falls is located in which of the following states?
Options :

1. % Kerala

2. % Tamil Nadu

3. # Meghalaya

4. ¥ Karnataka

Question Number : 54 Question Id : 2752289992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeafed & 9 ford s o Siaswa g fRia g2
Options :

1. % Bd

2. % qfe g

3. % Ty

4. ¢ FAlcH

Question Number : 55 Question Id : 2752289993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following rivers do not flow into Bay of Bengal?
Options :

1. ¥ Mahanadi

2. % Indus

3. % Krishna

4. ¥ Godavari

Question Number : 55 Question Id : 2752289993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed # 9 I I ¢! oa 31 ITe! | 51 S5 82
Options :

1. % TRl

2. ¢ Ry

3. ¥ U

4. % TEraRt

Question Number : 56 Question Id : 2752289994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Shipki La is the mountain range located in which of the following states?
Options :

1. # Uttarakhand

2. % Rajasthan

3. % Himachal Pradesh

4. % Sikkim

Question Number : 56 Question Id : 2752289994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rt o uda oft A o 9§ fore Irow B fRua 2
Options :

1. # IIRIES

2. % ST

3. ¢ foHrEd uew

4. % THfFpH

Question Number : 57 Question Id : 2752289995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following oceans has its apex in the north at the Bering Strait?
Options :

1. % Atlantic Ocean

2. % Arctic Ocean

3. ¥ Pacific Ocean

4. % Southern Ocean

Question Number : 57 Question Id : 2752289995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad AearR # 9 fag o1 RR1 (W) I & i Saaf? # g2



Options :

|. % 3Jcdiicd HENNR
2. % JRYAIT HEHTR
3. ¥ TR0 AR

4. % GIYUTYdI HENR

Question Number : 58 Question Id : 2752289996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Mountbatten Plan put forward?
Options :

1. % 1942

2. % 1940

3.9 1947

4, % 1945

Question Number : 58 Question Id : 2752289996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ardcac Aol &d A+ X! T8 Ai?
Options :

1. % 1942

2. % 1940

3.9 1947

4, % 1945

Question Number : 59 Question Id : 2752289997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following Governor Generals described himself as 'Bengal Tiger'?
Options :



1. * Lord Warren Hastings
2. % Lord Cornwallis

3. ¥ Lord Wellesley

4. # Lord Robert Clive

Question Number : 59 Question Id : 2752289997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad ok SRel § T o Tag & S eTTR BT U
Options :

1. % QIS aRA 3R

2. % QIS PIHale

3. ¢ Qs daoral!

. v C (o
4, % dlgXdc dilgd

Question Number : 60 Question Id : 2752289998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shams-ud-din Iltutmish belonged to which of the following dynasties?
Options :

1. ¥ Slave

2. % Khilji

3. % Tughlaq

4. ¥ Lodhi

Question Number : 60 Question Id : 2752289998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 ford Ioaw I IRIE A Sega i Jafdd 22
Options :

1. ¥ a™d



2. % el
3. % el
4. % A
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Section Id : 275228567
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Question Number : 61 Question Id : 2752289999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following introduced Dahsala system for the collection of land revenue by the state?
Options :

1. * Babur

2. ¥ Akbar

3. # Sher Shah

4. % Jahangir

Question Number : 61 Question Id : 2752289999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad B 9 fbam Isg gRT Y oivd o U & T 8T Yulrelt I B2
Options :

1. % dlaR

2. ¥ 3PN

3. % YR IME

4. % SEMR

Question Number : 62 Question Id : 27522810000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following year, Alipore Bomb Case by Khudiram Bose & Prafulla Chaki happened?
Options :

1. % 1912

2. % 1915

3. % 1901

4.+ 1908

Question Number : 62 Question Id : 27522810000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied o 9 ford avf &, GER™ 9N 3R UG dd! §RT SEYR 91 HIUS §3HT UT?



Options :
1. % 1912
2. % 1915
3. % 1901
4.+ 1908

Question Number : 63 Question Id : 27522810001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arya Samaj was founded by Swami Dayananda Saraswati in at Bombay to reform Hindu religion in North India.
Options :

1. % 1893

2. % 1860

3. ¥ 1875

4. % 1882

Question Number : 63 Question Id : 27522810001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TSI BT RITIAT WH G5 TR gRT IR URA H feg 4 I YR & forw are & AR
Options :

1. # 1893

2. % 1860

3.9 1875

4, = 1882

Question Number : 64 Question Id : 27522810002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarters of Food & Agricultural Organisation (FAO) is located in
Options :

1. #* Beijing



2. % New York
3. # London
4. % Rome

Question Number : 64 Question Id : 27522810002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG XY W TG SV WS BT GBA i fRERI
Options :

1. % i

2. % Ul

3. % ded

4.4 3

Question Number : 65 Question Id : 27522810003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the "Critics Best Actor In A Leading Role (Male)" award in the Filmfare Awards 2021?
Options :

1. # Rajkummar Rao

2. # Sanjay Mishra

3. ¥ Amitabh Bachchan

4. # TIrrfan Khan

Question Number : 65 Question Id : 27522810003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeied 7 € fa fherhar QRIBR 2021 H "3UUlt Y#ehT | 3iTeiiae (fobfee) 9F Sl (YoW)" BT JRBR Siidr?
Options :

1. * SIHHAR T

2. % Gorg fhe



3.« Ay g4
4, % RHMHE G

Question Number : 66 Question Id : 27522810004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an autobiography of Kapil Dev?
Options :

1. % Straight From the Heart

2. # Playing It My Way

3. # The Race of My Life

4. # The Test of My Life

Question Number : 66 Question Id : 27522810004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad 7 @ o W ®fUd < B THBUT 82
Options :

| v Rewlag e

2. % WIS AR

3. % G 31 A% A%

4. % G I HIS AZH

Question Number : 67 Question Id : 27522810005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The film “Nomadland” won prizes at the British Academy of Film and Television Arts Awards 2021.
Options :

1. # five

2. # two

3. % three



4. ¥ four

Question Number : 67 Question Id : 27522810005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

firer "ifsde A fafewr sraretlt offts fhed iR CefifasH ody bR 2021 REHR Siid |
Options :

1. % U

2. % T

3. % diF

4, ¥ IR

Question Number : 68 Question Id : 27522810006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following in April 2021 launched the DGFT Trade Facilitation Mobile Application for promoting ease of doing business and
providing quick access to information to importers/exporters?

Options :

1. # Nirmala Sitharaman
2. ® Harsh Vardhan

3. ¥ Piyush Goyal

4. ¥ Ravi Shankar Prasad

Question Number : 68 Question Id : 27522810006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad & I foem it 2021 & AMUR &3 H ST B Se1al o 3R TTdd|/Faiad! & o Fa-1ef &t @Rd Ugd UeH & &
forg DGFT ¢ HRiferewm Mg UeiheH di-d fharn

Options :

1. ® e FaRmA




4. % QPP YATG

Question Number : 69 Question Id : 27522810007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Noura al-Matroushi has been named as the first Female Astronaut of

Options :

1. % United Arab Emirates

2. # United States of America
3. # China

4. # Germany

Question Number : 69 Question Id : 27522810007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 31 AR &1 T Afga Qe & &9 § 1 far mn g
Options :

1. ¢ Ggad 3R R

2. % Tgad I SRS

3. % dH

4. % S

Question Number : 70 Question Id : 27522810008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Principal Scientific Advisor to Government of India in April 2021 launched a mobile application to promote the mental wellbeing of the
people of India. It is called the App.

Options :

1. % SUKOON
2. % SWASTH
3. ¥ KHUSHI

4. ¥ MANAS



Question Number : 70 Question Id : 27522810008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 2021 H HRA TRBR P T AP TIATGPR J HRd &b ANl bt HFRIS HATS B! 9¢TdT o & oIl U HiaTsd TR @l fobar|
ERl LEETEIGI

Options :

1. # SUKOON

2. % SWASTH

3. % KHUSHI

4. ¥ MANAS

Question Number : 71 Question Id : 27522810009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Facebook has recently signed a deal to buy renewable energy in India from a local firm called CleanMax in April 2021. This is the first
renewable project of Facebook in India. The project is located in

Options :

1. # Tamil Nadu
2. ¥ Karnataka
3. % Maharashtra
4. % Kerala

Question Number : 71 Question Id : 27522810009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3 BTd g1 T 310 2021 H FeliHay ATHS T RIHIG BH ¥ YR H 316 Soif WRie & it Ireid IR gwer U § 1 98 YRa
UG P UGl TdiHRUTg gRETSHT § | TREreHT ¥ R

Options :

1. % diie g

2. ¥ FlcH

3. % HERTY




4. % IIA

Question Number : 72 Question Id : 27522810010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Economist Intelligence Unit along with Facebook recently released the Inclusive Internet Index in April 2021. According to the index, India
is at the spot when it comes to internet inclusion and gender equality in accessing the internet.

Options :
1. *= 31st
2. ¥ 49th
3. * 55th
4. % 62nd

Question Number : 72 Question Id : 27522810010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HgH & Y SHFIERE eferoid gfHe A g1a & & 30id 2021 H SaRId ST Sod IR [T UT | YAHIH & IR, Tq SeC
U 3R ex-ic Ugd W oI GHHal & a1 31Tl § o HRd RF W |

Options :
1. % 31d
2. ¢ 49d
3. % 550
4. % 62d

Question Number : 73 Question Id : 27522810011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Articles of Indian Constitution deals with "Financial Emergency"?
Options :

1. * 330

2. % 350

3. ¥ 360



4, % 352

Question Number : 73 Question Id : 27522810011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ifaem & Faffad srg=al § @ o e smordera (rreaRmd saRed) 3 Gefid 32
Options :

1. * 330

2. % 350

3. ¥ 360

4, % 352

Question Number : 74 Question Id : 27522810012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following rights was deleted from the list of fundamental rights by the 44th Constitutional Amendment?
Options :

1. # Right to Equality

2. ¥ Right to Property

3. % Right to Freedom

4. # Right against Exploitation

Question Number : 74 Question Id : 27522810012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

443 HauTe TRy gRT Fgfiad & @ &1 91 SR Mifde fERI o It § ger faar mar um
Options :

1. % A BT YR

2. « il BT fYBR

3. % A BT YBR

4. % YU & RIATH SEYDHR




Question Number : 75 Question Id : 27522810013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The feature of 'Fundamental Duties' in the Indian Constitution was borrowed from the Constitution.
Options :

1. # British

2. # Irish

3. # Australian

4. % Union of Soviet Socialist Republics

Question Number : 75 Question Id : 27522810013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Sfde o Hiferes Saiedl B faisar o e & IUR foran ma o
Options :

1. % fofew

2. % SR

3. #% JReferg

4.« QifqYd FHTSTATC! VTG BT HY

Question Number : 76 Question Id : 27522810014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many members of the Rajya Sabha are nominated by the President?
Options :

1. % 36

2. % 18

3. 12

4, % 25

Question Number : 76 Question Id : 27522810014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT R ISTHHT & fobed ) Tard A fobT Sird 82
Options :

1. % 36

2. % 18

3. 12

4, % 25

Question Number : 77 Question Id : 27522810015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Singhraj, the Indian para-athlete has won in the 2021 Para Shooting World Cup at Al Ain in the United Arab Emirates on March
21,2021.

Options :
1. ¥ gold medal

2. % gilver medal

3. # bronze medal

4. % no medal

Question Number : 77 Question Id : 27522810015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIERTS, YR UR1-TYeie 7 21 ATH, 2021 &) GG 3R SR H 3@ T H 2021 TR1 YT ae Hu d ST gl
Options :

1. ¢ WUl Ugdh

2. % 5[d Uadh

3. % B UCH

4. % I3 USSP ol

Question Number : 78 Question Id : 27522810016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Bajrang Punia, has regained the world number one ranking after winning second successive gold medal at Matteo Pellicone Ranking Series in
2021. He is associated with which of the following sports?

Options :

1. # Hockey
2. ¥ Wrestling
3. ® Tennis

4, % Badminton

Question Number : 78 Question Id : 27522810016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI gfaT, A 2021 H AT 3 Uferap = Xfehv1 IR & TTaR gy 9ol uees Siiaq & a1e fay JeR T i g1y fosan ]| 9 Fafafea 3
AP TUI YIS U

Options :
1. % glep!
2. ¢ Gl
3. % 29
4. % qgfticd

Question Number : 79 Question Id : 27522810017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the 82nd Senior National Table Tennis Championship 2021 - Male Singles?
Options :

1. # Harmeet Desai

2. # Sushmit Sriram

3. ¥ Sathiyan Gnanasekaran

4. # S Fidel R Snehit

Question Number : 79 Question Id : 27522810017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafead # 9 frem sodf TR AeMd eaa A IfmAfRIT 2021 - T3 Thd Siar?
Options :

1. % gIHId T8

2. % gierdr gk

3. IR TMUMFTRIRERA

4. % 79 flhdd 3R Algd

Question Number : 80 Question Id : 27522810018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was awarded the title of the Wisden Almanack’s ODI Cricketer of the 2010s on April 15, 2021?
Options :

1. # Ben Stokes

2. % Mahendra Singh Dhoni

3. % Rohit Sharma

4. ¥ Virat Kohli

Question Number : 80 Question Id : 27522810018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed § 9 fd 15 3 2021 BT 2010 & fa 3I@H & ODI fovdrex & Raare § wrfa foan mar U
Options :

|, % S

2. % Tgg Rig Uit

3. % fgd xAl

4. ¢ Ta_TC DIl
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 27522810019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The product of HCF and LCM of two numbers is 192. The difference between the two numbers is 4. Find the numbers.
Options :

1. ® 10, 14

2. % 14,18

3. % 12,8

4. 12,16



Question Number : 81 Question Id : 27522810019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Sesft 1 HedH JHIdd® R TYaH JAIGAS BT UHEA 192 8| 1 TS & a1 BT 3R 4 § | TeATE J1d B
Options :

1. # 10, 14

2. % 14,18

3.% 12,8

4.9 12,16

Question Number : 82 Question Id : 27522810020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 7/8th of a number exceeds 5/6th of the same number by 20, then find 5/12th of the number is
Options :

1. % 480

2.9 200

3. % 240

4. % 120

Question Number : 82 Question Id : 27522810020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS foret TS &1 7/8 T 20 TP TP &1 BT & 5/6 I TG 6, ol ASAT BT 5/12 G U gl
Options :

1. # 480

2.9 200

3. % 240

4. % 120

Question Number : 83 Question Id : 27522810021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are in the ratio 2:3. If their HCF is 8, then their LCM is:
Options :

1. % 12

2. % 17

3. % 24

4. ¥ 48

Question Number : 83 Question Id : 27522810021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =T 2:3 & 3gTd H € | afe 3T HeaH IHIUGd® 8§ §, df 3! agaH SHIaq &
Options :

1. % 12

2. % 17

3. % 24

4.9 48

Question Number : 84 Question Id : 27522810022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Of the three numbers, the second is thrice the first and is also five times the third number. If the average of these three numbers is 46, find the
largest number.

Options :
1. ¥ 90
2. % 30
3. % 10
4. % 18

Question Number : 84 Question Id : 27522810022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ﬁﬁgﬁﬁ@,gﬂﬁmmmeﬂqw%eﬁ?mawmﬂq T ot B | afe 39 fiF el &1 o 46 7, df 99 Jet Se
RGN

Options :

1. ¥ 90

2. %30

3.% 10

4. % 18

Question Number : 85 Question Id : 27522810023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the family of four people the average weight is 45 kg. The weight of the mother is 20 kg less than the weight of the father. If the average
weight of the father and daughter is 56 kg and the weight of the son is 33 kg, find the average weight of father and mother.

Options :
1. # 55
2.9 45
3.% 44
4. % 35

Question Number : 85 Question Id : 27522810023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR ANT & URAR T 37d a9 45 kg & | T & Il & HIAT &1 a9 20 ke HH €1 3l T 3R T HT 3T a9 56 kg € 3R o BT ao
33 ke ©, Y FOrdT 3R AT 67 3T o J1d B

Options :
1. % 55
2.9 45
3. % 44
4. % 35

Question Number : 86 Question Id : 27522810024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a function, some people were present with their pet dogs. If the total number of heads is 60 and the total number of legs is 160, then find the
number of dogs present in the function.

Options :
1. % 30
2. %25
3. % 40
4.4 20

Question Number : 86 Question Id : 27522810024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS THRIE H, $& AT 39 UTaq Fal & 1Y Higg 3| afe RR &1 5 W& 60 8§ 3R IR & Hd G- 160 8, A GRS H HIS[G Hil I
BresIRIGERY

Options :

1. % 30

2. %25

3. % 40

4. v 20

Question Number : 87 Question Id : 27522810025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student scored an average of 65 marks in four subjects. Later it was found that the marks of chemistry were entered wrong as 72 instead of 82.
Find the correct average marks.

Options :
1. ® 64.4
2. % 65.7
3. % 664
4.+ 67.5



Question Number : 87 Question Id : 27522810025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS B A IR vl 7 3 65 3i g1d fpu | a1 § ag uran a1 {3 T fAg & 3i 82 & I TTad! ¥ 72 oof fHT 7Y &1 I8t
3 3 1 B

Options :

1. % 644

2. % 657

3. % 66.4

4.4 675

Question Number : 88 Question Id : 27522810026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper marks his good 40% above the cost price and then sells it at a discount of 20%. Find the loss or gain percent.
Options :

1. * 16 %

2.9 12%

3. % 8%

4. % 15%

Question Number : 88 Question Id : 27522810026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHMER AN Hed o SATT 30T I Dl 40% I 3ifhd a1 § 3R fR I/ 20% Pt Fe W S9ar g | g1 a1 @y ufa=rd I &1
Options :

1. * 16%

2.9 12%

3. % 8%

4. % 15%

Question Number : 89 Question Id : 27522810027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a school, 40 % of students are pursuing commerce, 20 % arts and 40 % science. Calculate the number of girls pursuing science if the
percentage of boys pursuing science is 60. Given that the total number of students in the school is 2000.

Options :
1. % 460
2. % 280
3.9 320
4. % 520

Question Number : 89 Question Id : 27522810027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fIemerd §, 40% BT aTfOGd, 20% 31T 3R 40% fawT 7 Rreror @ 32 § 1 fag o1 fReor an arelt s feral o Tveam &t 7o o3 afe
IR 1 F18101 A a1 TS o1 Ufd=Id 60 8 | AH o {6 faemea & o a1 &t ¥ 2000 1

Options :

1. % 460

2. % 280

3.¢ 320

4. % 520

Question Number : 90 Question Id : 27522810028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nitu scores 25% marks more than Rahul in Physics exam. Then what percentage marks did Rahul score less than Nitu.
Options :

1. ¥ 20%

2. % 25%

3. % 12.25%

4. % 50%

Question Number : 90 Question Id : 27522810028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ifad! URte & Aga 1 ga 8 =i A 25% 31 3idh U fhu | df e A - ¥ foa- Ufa=id &3 3id U [T |
Options :

1. % 20%

2. % 25%

3. % 12.25%

4. % 50%

Question Number : 91 Question Id : 27522810029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the length of a rectangle is increased by 50 % and the breadth is decreased by 10 %, then find the percentage increase in the area.
Options :

1. * 40%

2. % 55%

3. ¥ 35%

4. % 50%

Question Number : 91 Question Id : 27522810029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS TP AT ! TS 50% b TGTs St & 3R AISTS 10% TP HH PI St 5, Al &k H ufawrd gfs I 9|
Options :

1. * 40%

2. % 55%

3. ¥ 35%

4. % 50%

Question Number : 92 Question Id : 27522810030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Anu buys a fan from her friend Jack at Rs. 450. She sells it to her cousin at 15% profit. What price did her cousin pay for the fan?
Options :

1. ®¥ Rs.525.7

2. % Rs.515.7

3. ®¥ Rs.571.5

4. ¥ Rs.517.5

Question Number : 92 Question Id : 27522810030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 3 o S 450 FUT H U1 Ttedt & | 98 370 Tk HTS Pl 15 UL A1 TR S9! 8 1 I ok HTs = TRd & fore a1 geo
YT fobam

Options :

1. % 525.7%UUQ

2. % 515.7%UC

3. % 571.5%4U

4.+ 517.5%4U0Q

Question Number : 93 Question Id : 27522810031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper buys a certain quantity of rice at Rs. 140 per kg. He sells the whole rice at a profit of 20%. If the profit earned on the whole deal is
equal to the cost price of 5 kg rice, then find the quantity of rice purchased.

Options :

1. % 32kg
2. % 25kg
3. % 20 kg
4, % 22 kg

Question Number : 93 Question Id : 27522810031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T GHMER 140 TUU Ufd kg B Teb FiAd 7en & ar9d @Gdl 5| 98 QR a1 Bl 20% & TH UR oFdl & | afe IR Hie UR Hfold A1H 5 kg
I1ad DI AT Hed & IRIR 6, Al WRIG T F1ad o JTE 1d B

Options :

1. % 32 kg
2.% 25kg
3. % 20 kg
4. % 22kg

Question Number : 94 Question Id : 27522810032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling a book for Rs. 360, a man gains 25%. At what price should he sell it to gain 30%?
Options :

1. ¥ Rs.357.6

2. % Rs.354.7

3. ¥ Rs. 3744

4. % Rs. 388

Question Number : 94 Question Id : 27522810032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

360 3T H T QI Sad, T 3MGHT 25% ATH BRI Bl 6 | 30% ATH BTRIA B o forg I ford Yoo TR ST A1 W2
Options :

1. % 357.6 2UUQ

2. % 354.7%UC

3.9 3744300

4. % 388%UU

Question Number : 95 Question Id : 27522810033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A father divides some amount between his two children in the ratio 5 : 4. If the difference between their amount is Rs. 150,find the average sum



received by them.
Options :

1. ¥ Rs. 675

2. ®% Rs. 526

3. % Rs. 678

4, # Rs. 650

Question Number : 95 Question Id : 27522810033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS O 30 S Sl & S 5 : 4 P U H Ho A BT fAUIRIT ot 31 A It AR & i BT 3R 150 TUT &, <A I GRT U
N GRINEIGK ]

Options :

1. ¥ 675240
2. % 526°4U
3. % 678 24U
4. % 65094l

Question Number : 96 Question Id : 27522810034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the number of boys : girls in the school of 500 students is 2 : 3. How many more girls should be added to make the ratio 1 : 3?
Options :

1. # 500

2. % 300

3. % 400

4. % 200

Question Number : 96 Question Id : 27522810034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 BT & Ao & TS - ASfHal & WA HT UM 2 : 3 81 1 : 3 BT 3JU S & fort fpa-t siftier asfemal &l Siet ST =nfew?




Options :
1. # 500
2.9 300
3. # 400
4. = 200

Question Number : 97 Question Id : 27522810035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the ages of Sima and Ajay is 6:8. If the difference between their ages is 4 years, find the ratio of their ages after 5 years.
Options :

1.¥17:21

2. % 21:17

3.% 6:8

4. % 11:13

Question Number : 97 Question Id : 27522810035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R 31oTg B AT BT U 6 : 8 B 1 TG ISP ST BT 3R 4 I B, 5 TY P 1S SBT3 BT U Tl B |
Options :

1.¥17:21

2. % 21:17

3.%6:8

4. % 11:13

Question Number : 98 Question Id : 27522810036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of three numbers is 6 : 5 : 8. The sum of their squares is 1125. Find the numbers.
Options :

1. ® 15,18, 16



2. % 24,36, 25
3. % 24,18,25
4.+ 15,18,24

Question Number : 98 Question Id : 27522810036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9T TReAT3T BT ST 6 : 5 : 8 & | STab avlf I AT 1125 8 | TSATT 1 B |
Options :

1. # 15,18, 16

2. % 24, 36,25

3. % 24,18,25

4, ¥ 15,18, 24

Question Number : 99 Question Id : 27522810037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the simple compound and simple interest on a sum of money for 2 years is Rs. 105. Find the sum of money if the rate of
interest in both cases is 5%.

Options :

1. ¥ Rs. 42000
2. % Rs. 48000
3. ¥ Rs. 4200
4, ¥ Rs. 45000

Question Number : 99 Question Id : 27522810037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 a4 & forg e A R YR Thgfg 3R WIURT STl & &1d BT 3R 105 TAU & | AfS S HTHE! B STl &R 5% o, Al & M 71 B |
Options :

1. ¥ 42000 ¥UU

2. % 48000 >UU



3. % 4200 %4U
4. % 45000 >UU

Question Number : 100 Question Id : 27522810038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money triples itself in 8 years. How long will it take the amount to become five times the sum of money?
Options :

1. % 12 years

2. ¥ 16 years

3. # 14 years

4. % 18 years

Question Number : 100 Question Id : 27522810038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1R 8 IO H T T[T 81 11! § | SFRTIRT & g7 T R §94 | 39 food=1 9g am?

Options :
1. % 1299
2.¢ 1694
3.% 1499
4.% 1399
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Group Number : 6
Group Id : 275228368
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
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Mandatory or Optional : Mandatory
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 27522810039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money yields a simple interest of Rs. 120 in 2 years at 4% interest. Find the compound interest on the same amount, same rate
percentage and at the same time.

Options :

1. % Rs. 157.53
2. % Rs. 173.5
3. % Rs. 157.35
4, ¥ Rs. 122.4

Question Number : 101 Question Id : 27522810039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
4% TS TR 2 T B U ¢ IR 120 FUY &7 WYRYT ST 3ot Bl & | GHH MR, THH SR TR 3R JHH T R Iehgfa &ITS 1d




Gl

Options :

1. % 157.53%0U
2. % 173.5%40Q
3. % 157.35%UC
4.9 1224007

Question Number : 102 Question Id : 27522810040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what time will Rs. 400 amount to Rs 480 at 5 % rate per annum ?
Options :

1. #® 2 years

2. % 6 years

3. # 5 years

4. ¥ 4 years

Question Number : 102 Question Id : 27522810040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore T T Ul a9 5% BT G 3 400 FUT 480 TIT BT SN2
Options :

1. %29y

2. % ¢y

3.% 59y

4.9 499

Question Number : 103 Question Id : 27522810041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It takes 4 hours to travel from Delhi to Jaipur by car. If the speed is reduced by 20 kmph, the time taken is 6 hours. Find the distance between the
two cities.



Options :

1. % 220 km
2. % 240 km
3. % 280 km
4. % 200 km

Question Number : 103 Question Id : 27522810041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HR Y oot § TR &t A H 4 °9¢ T § | IS T 20 kmph T HH SIS €, o 0T 791 99T 6 6 81 &1 X & &g Bl gl A1 DR
Options :

1. % 220 km

2. % 240 km

3. % 280 km

4. % 200 km

Question Number : 104 Question Id : 27522810042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train can cross a person in 15 seconds and a platform of length 500 m in 20 sec. Find the length of the train.
Options :

1. ®* 1km

2. % 1.2 km

3.¥ 1.5km

4. % 1.25km

Question Number : 104 Question Id : 27522810042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YS! 15 Vb S H U Afdd B UR B bl g 3R 20 s H 500 HieX dd WehTH bl UR B! § | YS! B ddls J1d B |

Options :



1. ®* 1km

2. % 1.2km
3. 1.5km
4. % 1.25km

Question Number : 105 Question Id : 27522810043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a 500 m race, Rahul defeats Ranjan by 10 seconds. Find the speed of Ranjan if the speed of Rahul is 20 kmph.
Options :

1. * 4 km/sec

2. % 5 m/sec

3. % 8m/s

4. % Skm/sec

Question Number : 105 Question Id : 27522810043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 m B g8 H, JEA A T BT 10 Tobs J RAT| I0H D1 711 A1 HX TS A P11 20 kmph B
Options :

1. * 4 km/sec

2. ¥ 5 m/sec

3. % 8m/s

4. % Skm/sec

Question Number : 106 Question Id : 27522810044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can complete a piece of work in 20 days while B can complete the same work in 15 days. Find the time required to complete 7/5 times of the
total work when A and B work together.

Options :
1. # 15 days



2. % 8 days
3. % 13 days
4. ¥ 12 days

Question Number : 106 Question Id : 27522810044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 20 a1 T TH TR1 R Tahdl § STaid B 39T B &I 15 oA § WA THhdl 81 519 A 3R B TH I HH & g, Al ol DHIH BT 7/5 AT
TRT A o folU 3{1a%geh TUT J1d PR

Options :

1. % 15fe=
2. % gfeT
3. % 13feq
4. 1213

Question Number : 107 Question Id : 27522810045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pipe X can fill the tank in 20 hours, while another pipe Y can empty the tank in 5 hours. In an empty tank, pipe X is opened for 10 hours. After
10 hours, pipe Y is also opened. In what time will the tank be empty.

Options :

1. ¥ 10/3 hours
2. % 7 hours

3. % 4/9 hours
4. % 5/8 hours

Question Number : 107 Question Id : 27522810045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TI3Y X Th1 DI 20 T T WR Fahcll §, Ta(h GERT UIST Y bl Bl 5 He B Wl B Ahdll ¢ | TP WIall el |, TS X DY 10 U & forg @ren
AT 10 e & a1, Urgy y Y Wiar oirar g | fovds 90y § dab @reh givt |

Options :




1. 10/3°¢
2. % 79C

3. % 4/96°C
4. % 5/8%¢

Question Number : 108 Question Id : 27522810046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B undertake a project. A can finish a work in 8 hours while together they can finish in 6 hours. If Rs. 140 is divided between them for one
hour’s work, then find the amount received by B at the end of the day if they work together.

Options :

1. % Rs. 260
2. ¥ Rs. 210
3. % Rs. 420
4. % Rs. 180

Question Number : 108 Question Id : 27522810046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B U& URASHT & TXd g | A T HTH BT § B T T HR b § SIdid U 1Y fdd 6 9¢ & TR R Tdhd o | G Th e & HH
& o 140 FUU Y I s fauTfora frar Srar 8, @t fam & ofd & B gRT U IR 10 &% IS 3 T 1Y HH FRA & |

Options :

1. % 260 >UU
2.9 210>UC¢
3. % 420%0U0
4. % 180U

Question Number : 109 Question Id : 27522810047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can complete a piece of work in 9 days and B can complete the work in 6 days. They work together for 2 days and then B leaves the job. How
long will it take A to complete the work?



Options :

1. # 7/3 days
2. % 89/2 days
3. # 6/5 days
4. ¥ 4 days

Question Number : 109 Question Id : 27522810047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TH S B 9 el & g1 - Fabal § 3R B BT &1 6 oAl § Q1 = Fohvdl 51 9 2 il T Ub 1Y HTH IRl 5 3R R B H1H BIS &l
g1 A D B R HA H =1 T80 T

Options :

1. % 73 f&=

2. % 892 faA

3. % ¢/5 e

4.+ 4feT

Question Number : 110 Question Id : 27522810048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid cuboid of side 22 ¢cm, 8 cm and 14 c¢m is melted into spheres of radius 1 cm. Find the number of spheres formed.
Options :

1. # 422

2. ¥ 588

3. % 345

4. % 528

Question Number : 110 Question Id : 27522810048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 22 cm, 8 km 3R 14 cm P 319G T1H B FIRT 1 cm & M A FOrgeman Sirar g1 99 7T Ml Bt U1 J1d B

Options :



1. % 422
2. ¥ 588
3. % 345
4. % 528

Question Number : 111 Question Id : 27522810049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The inradius of a triangle is 4 cm and its perimeter is 20 cm. Find the area of the triangle.
Options :

1. % 80 sqcm

2. % 54 s3qcm

3. ¥ 40 sqcm

4. % 50 sqcm

Question Number : 111 Question Id : 27522810049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Y BT SRISTH 4 cm § 3R SHHT URAM 20 om B | YT BT 8B 71 B
Options :

1. # 80sqcm

2. % 54sqcm

3. ¥ 40 sq cm

4. % 50sqcm

Question Number : 112 Question Id : 27522810050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The volume of two spheres are in the ratio 729 : 1331 . Find the surface area of the first sphere if the second sphere has a radius of 11 cm.
Options :

1. % 527 pisqcm

2. % 324 pisqcm



3. % 426 pisqcm
4. % 289 pisqcm

Question Number : 112 Question Id : 27522810050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T BT T 729 : 1331 % SFUTd H 8| TS TITet &1 JEIT &0 d J1d 61 afe gaR Md &1 ST 11 em & |
Options :

1. % 527 pisq cm

2. % 324 pisqcm

3. % 426 pisqcm

4. % 289 pisqcm

Question Number : 113 Question Id : 27522810051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The base of a cone and a cylinder have a radius of 4 cm.
They also have the same height of 10 cm. The ratio of the volume of the cylinder to the volume of cone is:

Options :
l.%5:3
2.% 4:3
3.03: 1
4. % 3:4

Question Number : 113 Question Id : 27522810051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AP BT YR 3R TP 9 Bt AT 4 em B |

DI Hamg Ht 10 cm B 1 WP F M & 1T S0 & 3MId T 39U ©:
Options :

1.%5:3

2.% 4:3



3.3 1
4.%3:4

Question Number : 114 Question Id : 27522810052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person spends his salary of Rs. 50,000 in the following ways. Calculate the amount of money saved by him. The pie chart gives the break up in
percent.

Expenditure

Options :

1. ¥ Rs. 12500
2. # Rs. 22500
3. % Rs. 12000
4. % Rs. 2500

Question Number : 114 Question Id : 27522810052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gg:%mso,ooowmamﬁaﬁf@aaﬂﬁﬁmémm% 3YD GRI TS T8 Y=RIRI B} U] D | UTS A1C Ffi=id H sicb 39
|




Options :

1. ¥ 12500 2UQ
2. % 22500 >UQ
3. % 12000 >UU
4. % 2500 >UQ

Question Number : 115 Question Id : 27522810053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of lecturers of different subjects in a university of total 3000 lecturers is given. Calculate the difference between the number of
maths lecturer and English lecturer. The pie chart gives the break up in percent.

Mumber of lectures in percentage
Computer, B

Options :



1. ® 420
2. % 345
3. % 350
4. ¥ 390

Question Number : 115 Question Id : 27522810053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F 3000 TARSATTS & fayfaarea & faftra fawal & carerarsii &1 e €t 718 ¢ | 1O RN 3R Sl SARSATd Bt AT & & d &
3R &1 TUFT B | TTS AT Ufa=rd H 8 31 a1 ]

wrETart o Hen yiama o
*EKI,

Options :
1. % 420
2. % 345
3. % 350
4. ¥ 390

Question Number : 116 Question Id : 27522810054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Budget of India for the year 2011-12 was allocated in different sectors as follows:
Find the difference in the amount spent on Health and Defence if the total budget was Rs. 250 crores.



Amountset in crores

Options :

1. ¥ Rs 25 crores
2. % Rs 40 crores
3. # Rs 30 crores
4. % Rs 15 crores

Question Number : 116 Question Id : 27522810054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iy 2011-12 & foQ WRd &1 gore fafte &t o sirdfed fosar may .
g P ToIc 250 HIS SUT T I W T4 & IR W 1 15 Ay T SR 1 b |

i 1 A g i

Options :
1. ¥ 25 $€IS >Uu
2. % 40 $€-IS >Uu



3. % 30 RIS JUY
4. % 15 PS ¥UT

Question Number : 117 Question Id : 27522810055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number of boys in five different schools are given as follows :

The total number of students in all five schools 1s 5000.
Find how much more percentage of boys are present in school A than in E.

1300

1200
500
£00
I I l
a B c D E

Schoal

uus—-g
N

Mumber of boys
=3 8883832

Options :

1. ¥ 66.67 %
2. % 54.50%
3. % 3331%
4. % 64.80%

Question Number : 117 Question Id : 27522810055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ur fafte faenea § deo! ot TRea FgraR & 78 ©:
Tt Ui faemeal § ST &t $d e 5000 & |
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Options :

1. ¥ 66.67%
2. % 54.50%
3. % 33.31%
4. % 64.80%

Question Number : 118 Question Id : 27522810056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of male and females in four different villages are as follows:
Find the ratio of total number of people in village B to the number of people in village D.

mMale mFemale

350 3o
L] ]
’::' g 270

250 220
a 200 s

200 -
|E 150
_E 150 -
é 100

50 4

o -
& B C D
Village

Options :



1. ®¥ 31:32
2. % 34:31
3.9 33:31
4, % 33:32

Question Number : 118 Question Id : 27522810056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR fafirs Tial & oy 3R Afgernsi &1 G Fargar 3:
71 D T AN 1 BT 1 g1 H 711 B T Gl ATl bl ST DT SUTd I DL |

B OHY n gfgen
350 -
300 -

320
270
200 20

200 180 i a0 170
1350 -
100 -
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a B c D
g

Options :

1. % 31:32
2. % 34:31

3.9 33:31
4, % 33:32

il P

Question Number : 119 Question Id : 27522810057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The income and expenditure of five companies in the year 2012 is given (in crores). Which company is earning the maximum profit (in crores)?



®lncame| Inerores) = Expenditure | In erores )

S0
45
i 2
1 38
] n o L
0 19
P o R 3 T

Cornpary

Amaunt
o 5 B B & 8 B

Options :
1. % R
2.¥P
3.%Q
4. % S

Question Number : 119 Question Id : 27522810057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a¥ 2012 7 Uig Hufal & 3 3R 07 3 T § (@re! H) | B W Hu siidd ary Sifefd B I8 @ (@Rl Hy?

= T (G H) T ST H)

6 - -
45
z_ : ELS b
% e 20 = 19 = .
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m.
5
" o " -] T
Eoen|

Options :
1. % R
2.¥P
3.%Q
4. % S




Question Number : 120 Question Id : 27522810058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Marks scored by three students in different languages is given. Calculate the average marks of C.

EA BB nC

100 - 92 94 g2
a0 - 80 84

70 -

a0

Marks scored
2

30 A
20
10

Physics Chemistry
Subjects

Options :
1. % 85
2. % 92
3. % 76
4. ¥ 90

Question Number : 120 Question Id : 27522810058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o BE gRT RAfNT HTemeft H ur sk fRU T &1 ¢ & 3id 3ichl P UFT B |



BEA BB mC
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HITdH
Options :
1. % 85
2. %92
3. % 76
4. ¥ 90
General English1
Group Number : 7
Group Id : 275228369
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 275228661
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 27522810059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It was his birthright to/ rule the kingdom of Westeros/ being the first born heir to King Baratheon.
Options :

1. # It was his birthright to

2. # rule the kingdom of Westeros

3. ¥ being the first born heir to King Baratheon.

4. % No Error

Question Number : 121 Question Id : 27522810059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It was his birthright to/ rule the kingdom of Westeros/ being the first born heir to King Baratheon.
Options :

1. * It was his birthright to

2. % rule the kingdom of Westeros



3. ¢ being the first born heir to King Baratheon.
4. % No Error

Question Number : 122 Question Id : 27522810060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Not only did we travelled around / the world in less than 70 days/ but also set a record for visiting the most cities in that time.
Options :

1. ¥ Not only did we travelled around

2. % the world in less than 70 days

3. % but also set a record for visiting the most cities in that time.

4. % No Error

Question Number : 122 Question Id : 27522810060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Not only did we travelled around / the world in less than 70 days/ but also set a record for visiting the most cities in that time.
Options :

1. ¥ Not only did we travelled around

2. # the world in less than 70 days

3. % but also set a record for visiting the most cities in that time.

4. # No Error

Question Number : 123 Question Id : 27522810061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

I could have done so much/ with my life but instead I wasted several/ years of trying to be something I was not.
Options :

1. # I could have done so much

2. # with my life but instead I wasted several

3. ¥ years of trying to be something I was not.

4. ® No Error

Question Number : 123 Question Id : 27522810061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

I could have done so much/ with my life but instead I wasted several/ years of trying to be something I was not.
Options :

1. # I could have done so much

2. % with my life but instead I wasted several

3. % years of trying to be something I was not.

4. ® No Error

Question Number : 124 Question Id : 27522810062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The warden gave an equal/ chance to Chandan and I to explain the/ events that occurred in the auditorium.
Options :

1. # The warden gave an equal

2. % chance to Chandan and I to explain the

3. # events that occurred in the auditorium.

4. # No Error



Question Number : 124 Question Id : 27522810062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The warden gave an equal/ chance to Chandan and I to explain the/ events that occurred in the auditorium.
Options :

1. # The warden gave an equal

2. % chance to Chandan and I to explain the

3. # events that occurred in the auditorium.

4. # No Error

Question Number : 125 Question Id : 27522810063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Even if the war happens on the other/ side of the globe, it could still create a vortex/ that might draw our country into the fight.
Options :

1. % Even if the war happens on the other

2. % side of the globe, it could still create a vortex

3. # that might draw our country into the fight.

4. % No Error

Question Number : 125 Question Id : 27522810063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Even if the war happens on the other/ side of the globe, it could still create a vortex/ that might draw our country into the fight.



Options :

1. # Even if the war happens on the other

2. # side of the globe, it could still create a vortex
3. # that might draw our country into the fight.

4. ¥ No Error

Question Number : 126 Question Id : 27522810064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

John's kind and big-hearted (nature could have been seen when he) decided to donate all his wealth to the less fortunate.
Options :

1. ¥ nature could be seen when he

2. # nature should be seen when

3. ¥ nature would be seen

4. % No corrections required

Question Number : 126 Question Id : 27522810064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

John's kind and big-hearted (nature could have been seen when he) decided to donate all his wealth to the less fortunate.
Options :

1. ¥ nature could be seen when he

2. # nature should be seen when

3. % nature would be seen

4. # No corrections required

Question Number : 127 Question Id : 27522810065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Neither did he work on his form (or did he try to change his playing style) to better suit the foreign conditions.
Options :

1. # or did he try to change his playing style

2. % nor did he try to change his playing style

3. ® nor did he try to change his play style

4. ¥ No corrections required

Question Number : 127 Question Id : 27522810065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Neither did he work on his form (or did he try to change his playing style) to better suit the foreign conditions.
Options :

1. # or did he try to change his playing style

2. ¥ nor did he try to change his playing style

3. # nor did he try to change his play style

4. # No corrections required

Question Number : 128 Question Id : 27522810066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The (rings of the planet Saturn constantly moves outwards) and are getting fainter everyday.
Options :

1. % ring of the planet Saturn constantly moves outwards



2. ¥ rings of the planet Saturn are constantly moving outwards
3. ® rings of the planet Saturn constantly move outwards

4. % No corrections required

Question Number : 128 Question Id : 27522810066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The (rings of the planet Saturn constantly moves outwards) and are getting fainter everyday.
Options :

1. # ring of the planet Saturn constantly moves outwards

2. % rings of the planet Saturn are constantly moving outwards

3. # rings of the planet Saturn constantly move outwards

4. ® No corrections required

Question Number : 129 Question Id : 27522810067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Jack said that, "He finished at) long last and replaced all his things in his satchel."”
Options :

1. % Jack said "He finished at

2. % Jack said that " He finished in

3. # Jack said that, " He finished in

4. % No corrections required

Question Number : 129 Question Id : 27522810067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Jack said that, "He finished at) long last and replaced all his things in his satchel."
Options :

1. ¥ Jack said "He finished at

2. # Jack said that " He finished in

3. # Jack said that, " He finished in

4. #* No corrections required

Question Number : 130 Question Id : 27522810068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

The British government declared their concurrence in the institution of a tribunal to upon claims for compensation.

Options :

1. # exaggerate
2. % electorate
3. ¥ arbitrate

4. ¥ magistrate

Question Number : 130 Question Id : 27522810068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

The British government declared their concurrence in the institution of a tribunal to upon claims for compensation.

Options :

1. # exaggerate
2. # electorate
3. % arbitrate

4. ® magistrate



Question Number : 131 Question Id : 27522810069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Cattle and pine are sent to Cuba, and Havana tobacco and fine grades of Cuban timber are imported.

Options :

1. * amber

2. % ember

3. % distributor
4. ¥ lumber

Question Number : 131 Question Id : 27522810069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Cattle and pine are sent to Cuba, and Havana tobacco and fine grades of Cuban timber are imported.

Options :

1. # amber

2. # ember

3. * distributor
4. ¥ lumber

Question Number : 132 Question Id : 27522810070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Inclusive of private packs it is difficult to more than an overall total of 60 drag and/or bloodhound packs.

Options :
1. ®* package



2. # discourage
3. % haemorrhage

4. ¥ envisage

Question Number : 132 Question Id : 27522810070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Inclusive of private packs it is difficult to more than an overall total of 60 drag and/or bloodhound packs.

Options :

1. # package

2. % discourage
3. #* haemorrhage

4. ¥ envisage

Question Number : 133 Question Id : 27522810071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

President Clinton's romantic travails and legal entanglements proved both a boon and to talk radio over the last year.
Options :
1. # pane
2. ¥ bane
3. ® sane

4. ¥ pain

Question Number : 133 Question Id : 27522810071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.



President Clinton's romantic travails and legal entanglements proved both a boon and to talk radio over the last year.
Options :
1. # pane
2. % bane
3. % sane

4. % pain

Question Number : 134 Question Id : 27522810072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

In the war of independence, the village was repeatedly subjected to and slaughter by both parties in the strife, and did not
recover its losses for many years.

Options :

1. % disparage
2. % pilgrimage
3. ¥ pillage

4. ® espionage

Question Number : 134 Question Id : 27522810072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

In the war of independence, the village was repeatedly subjected to and slaughter by both parties in the strife, and did not
recover its losses for many years.

Options :

1. # disparage
2. % pilgrimage
3. ¥ pillage

4. % espionage



Question Number : 135 Question Id : 27522810073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

These plants are vulnerable
P. winter and are therefore
Q. to frost damage in

R. protected with boxes

S. from October

to May.
Options :
1. ®* QPSR
2. % QSPR
3. % QPRS
4. % QRPS

Question Number : 135 Question Id : 27522810073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

These plants are vulnerable
P. winter and are therefore
Q. to frost damage in

R. protected with boxes



S. from October

to May.
Options :
1. % QPSR
2. % QSPR
3. ¥ QPRS
4. % QRPS

Question Number : 136 Question Id : 27522810074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Arguably, the world's poorest continent lags because of modern age colonialism, which severely affects its economic growth and development.

P. The continent has abundant natural resources, including the most precious diamonds, but most Africans are still under the tight control of
powerful nations, which hurts the economy.

Q. In simple words, colonialism is described as an act of practicing full or partial control over another country.
R. The primary purpose is to exercise power and exploit the natural resources of the country so that it cannot grow economically.
S. This is precisely the case with Africa.

For example, the policies of colonialism forced Africa to rely on imported goods as all the natural resources are drawn away by the wealthy
nations.

Options :

1. # QSRP
2. ¥ QRSP
3. % QSPR
4. % QPSR

Question Number : 136 Question Id : 27522810074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Arguably, the world's poorest continent lags because of modern age colonialism, which severely affects its economic growth and development.

P. The continent has abundant natural resources, including the most precious diamonds, but most Africans are still under the tight control of
powerful nations, which hurts the economy.

Q. In simple words, colonialism is described as an act of practicing full or partial control over another country.
R. The primary purpose is to exercise power and exploit the natural resources of the country so that it cannot grow economically.
S. This is precisely the case with Africa.

For example, the policies of colonialism forced Africa to rely on imported goods as all the natural resources are drawn away by the wealthy
nations.

Options :

1. # QSRP
2. ¥ QRSP
3. ¥ QSPR
4. % QPSR

Question Number : 137 Question Id : 27522810075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Cynthia Byrne never opened
P. her eyes and clung to Dean's
Q. right arm with such a

R. tenacious grip he



S. thought he'd be

permanently scarred.
Options :

1. ¥ PQRS

2. * PSQR

3. ¥ PRSQ

4. % PSRQ

Question Number : 137 Question Id : 27522810075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Cynthia Byrne never opened
P. her eyes and clung to Dean's
Q. right arm with such a

R. tenacious grip he

S. thought he'd be

permanently scarred.
Options :

1. ¥ PQRS

2. * PSQR

3. ¥ PRSQ

4. % PSRQ

Question Number : 138 Question Id : 27522810076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is opposite in meaning (ANTONYM) to the word given below

Guile

Options :

1. # Genuinity
2. % Cunning
3. # Naive

4. ¥ Candour

Question Number : 138 Question Id : 27522810076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

Guile

Options :

1. # Genuinity
2. % Cunning

3. # Naive

4. % Candour

Question Number : 139 Question Id : 27522810077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Exemplary
Options :

1. % Chaotic

2. % Unworthy
3. # Deplorable
4. ¢ Impeccable



Question Number : 139 Question Id : 27522810077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

Exemplary
Options :

1. % Chaotic

2. # Unworthy
3. % Deplorable
4. ¥ Impeccable

Question Number : 140 Question Id : 27522810078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Reverence
Options :

1. ¥ Despise
2. # Deference
3. % Honour

4. % Venerate

Question Number : 140 Question Id : 27522810078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

Reverence
Options :
1. ¥ Despise

2. % Deference



3. # Honour

4. ®# Venerate
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Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 141 Question Id : 27522810079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

General English2

8
275228370

General English2

275228571
1

Online
Mandatory
16

16

20

Yes

1
275228662
Yes



Select the word that is similar in meaning (SYNONYM) to the word given below

Spurious
Options :

1. # Authentic
2. ¥ Feigned
3. # Insecure

4. % Brawny

Question Number : 141 Question Id : 27522810079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

Spurious
Options :

1. # Authentic
2. ¥ Feigned
3. % Insecure

4. % Brawny

Question Number : 142 Question Id : 27522810080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Vigour
Options :

1. ¥ Lethargy
2. % Zeal

3. % Ardour

4. % Stamina



Question Number : 142 Question Id : 27522810080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

Vigour
Options :

1. ¥ Lethargy
2. # Zeal

3. % Ardour

4. % Stamina

Question Number : 143 Question Id : 27522810081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Longevity

2. # Longivity

3. # Longetivity

4. ® Longitivity

Question Number : 143 Question Id : 27522810081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Longevity

2. % Longivity

3. # Longetivity

4. % Longitivity



Question Number : 144 Question Id : 27522810082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Masochist

2. % Masoshist

3. ¥ Masoschist

4. % Macoschist

Question Number : 144 Question Id : 27522810082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Masochist

2. # Masoshist

3. % Masoschist

4. ¥ Macoschist

Question Number : 145 Question Id : 27522810083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Paradigmn

2. # Paridigm

3. % Paradigm

4. % Paradime

Question Number : 145 Question Id : 27522810083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Paradigmn

2. % Paridigm

3. ¥ Paradigm

4. % Paradime

Question Number : 146 Question Id : 27522810084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Proliferate

2. % Prolifarate

3. # Proliferete

4. % Prolifarete

Question Number : 146 Question Id : 27522810084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Proliferate

2. # Prolifarate

3. % Proliferete

4. % Prolifarete

Question Number : 147 Question Id : 27522810085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.



Options :

1. # Euphamism
2. # Euphimism
3. % Euphiamism

4. ¥ Euphemism

Question Number : 147 Question Id : 27522810085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Euphamism

2. % Euphimism

3. % Euphiamism

4. ¥ Euphemism

Question Number : 148 Question Id : 27522810086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Fair and wide

Options :

1. # Equal opportunity to all

2. # Not frequent, unusual, rare
3. % Divided into two equal parts

4. ¥ Present everywhere

Question Number : 148 Question Id : 27522810086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Fair and wide

Options :

1. # Equal opportunity to all

2. % Not frequent, unusual, rare
3. % Divided into two equal parts

4. ¢ Present everywhere

Question Number : 149 Question Id : 27522810087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Finding your feet

Options :

1. # Not willing or wanting to change from your normal way of doing something
2. % Something that shows potential or looks promising

3. ¥ To become more comfortable in whatever you are doing

4. # To not be comfortable in whatever you are doing

Question Number : 149 Question Id : 27522810087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Finding your feet

Options :

1. # Not willing or wanting to change from your normal way of doing something
2. # Something that shows potential or looks promising

3. ¥ To become more comfortable in whatever you are doing

4. # To not be comfortable in whatever you are doing

Question Number : 150 Question Id : 27522810088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Go down like a lead balloon

Options :

1. ® Going above and beyond whatever is required for the task at hand

2. % Put yourself in a tough position in order to support someone/ something
3. ¥ To be received badly by an audience

4. ® Someone who is having a horrible day

Question Number : 150 Question Id : 27522810088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Go down like a lead balloon

Options :

1. # Going above and beyond whatever is required for the task at hand

2. # Put yourself in a tough position in order to support someone/ something
3. ¥ To be received badly by an audience

4. # Someone who is having a horrible day

Question Number : 151 Question Id : 27522810089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

It takes two to tango

Options :

1. # An aggressive and bold confrontation

2. % It seems likely, reasonable, or typical

3. # A competition where the outcome is difficult to judge or predict

4. ¥ A two person conflict where both people are at fault



Question Number : 151 Question Id : 27522810089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

It takes two to tango

Options :

1. ¥ An aggressive and bold confrontation

2. # It seems likely, reasonable, or typical

3. % A competition where the outcome is difficult to judge or predict

4. ¥ A two person conflict where both people are at fault

Question Number : 152 Question Id : 27522810090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A person having a sophisticated charm
Options :

1. ¥ Debonair

2. % Dilettante

3. % Demagogue

4. % Emigrant

Question Number : 152 Question Id : 27522810090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A person having a sophisticated charm
Options :
1. ¥ Debonair



2. % Dilettante
3. # Demagogue

4. ®* Emigrant

Question Number : 153 Question Id : 27522810091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A person who is incapable of being tampered with
Options :

1. # Mercenary

2. % Immoral

3. # Indefatigable

4. ¥ Impregnable

Question Number : 153 Question Id : 27522810091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A person who is incapable of being tampered with
Options :

1. % Mercenary

2. % Immoral

3. # Indefatigable

4. ¥ Impregnable

Question Number : 154 Question Id : 27522810092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below



Someone in love with himself
Options :

1. # Egotist

2. ¥ Narcissist

3. # Crassest

4. #® Classist

Question Number : 154 Question Id : 27522810092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Someone in love with himself
Options :

1. % Egotist

2. ¥ Narcissist

3. # Crassest

4. # (Classist

Question Number : 155 Question Id : 27522810093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A person who is indifferent to the pains and pleasures of life
Options :

1. #* Philanthropist

2. % Stoic

3. % Polyglot

4. # Virtuoso

Question Number : 155 Question Id : 27522810093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A person who is indifferent to the pains and pleasures of life
Options :

1. # Philanthropist

2. ¥ Stoic

3. # Polyglot

4. % Virtuoso

Sub-Section Number : 2
Sub-Section Id : 275228663
Question Shuffling Allowed : Yes

Question Id : 27522810094 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Africa is the second—largest continent after Asia. It also has the second—largest population after Asia. About one billion people live in Africa.
That is almost 15% of the world’s population. There are currently 54 countries on the continent of Africa, when including island countries and
the Western Sahara. The number of countries sometimes changes because many of the countries were made by colonial powers. Colonial powers
are countries that made colonies in Africa when it was first being discovered by outsiders.

There are about 2,000 different languages in Africa. Most of the languages belong to one of four large language groups. The four large language
groups are Afro-Asiatic, Nilo-Saharan, Niger-Congo, and the Khoisan languages. People also speak some non—African languages in Africa.
About 20% of the population speak Arabic, mostly in northern Africa. About 10% speak Swahili, mostly in south-eastern Africa. About 5%
speak Hausa, mostly in western Africa. Many people also speak English, French, and Portuguese. One African country, Nigeria, has 250 different
languages!

There are many different tribes and cultures in Africa. For example, there is the Ashanti people. They live in Ghana. They are famous for their
beautiful Kente cloth. Kente cloth can be different colors. Ashanti people wear clothing made of Kente cloth for important events. There are also
the Madinka people. They live in West Africa - mostly in Senegal, Gambia, and Guinea-Bissau. Some Madinka people also live in Burkina Faso,
Mali, and Cote d'Ivoire. The Madinka people are famous for their music.

They tell their history with music. Most scientists think that the first humans came from Africa. The first written information in Africa comes
from Egypt at around 3300 B.C.E. (B.C.E. means Before the Common Era., or before the year “0’). Egypt is one of the oldest African



civilizations. At that time, Egypt traded with Phoenicia, which is now Lebanon, and includes parts of Israel, Palestine, and Syria. Egypt was
discovered by the ancient Greeks, who were the first Europeans to go to Africa

Sub questions

Question Number : 156 Question Id : 27522810095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percentage of the world's population does Africa constitutes?
Options :

1. % 10%

2.9 15%

3. % 20%

4. % 5%

Question Number : 157 Question Id : 27522810096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage which of the following options is not a major language group?
Options :

1. # Afro-Asiatic

2. # Khoisan

3. % Nilo-Saharan

4. ¥ Nilo-Asiatic

Question Number : 158 Question Id : 27522810097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which part of Africa is Arabic most spoken in?
Options :

1. # East Africa

2. ¥ North Africa

3. % South Africa

4. ¥ West Africa



Question Number : 159 Question Id : 27522810098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage which of the following is statement is incorrect?

Options :

1. % Madinka people love music and tell their history through music.

2. % Most scientists believe that the first humans came from Africa.

3. # Nilo-Asiatic is one of the major languages group of which most languages spoken in Africa belong to.

4. ¥ Africa constitutes 20% of the world population.

Question Number : 160 Question Id : 27522810099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Madinka people are found in which part of Africa?
Options :

1. # North Africa

2. # East Africa

3. ¥ West Africa

4. % South Africa

Question Id : 27522810094 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Africa is the second—largest continent after Asia. It also has the second—largest population after Asia. About one billion people live in Africa.
That is almost 15% of the world’s population. There are currently 54 countries on the continent of Africa, when including island countries and

the Western Sahara. The number of countries sometimes changes because many of the countries were made by colonial powers. Colonial powers

are countries that made colonies in Africa when it was first being discovered by outsiders.

There are about 2,000 different languages in Africa. Most of the languages belong to one of four large language groups. The four large language
groups are Afro-Asiatic, Nilo-Saharan, Niger-Congo, and the Khoisan languages. People also speak some non—African languages in Africa.
About 20% of the population speak Arabic, mostly in northern Africa. About 10% speak Swahili, mostly in south-eastern Africa. About 5%



speak Hausa, mostly in western Africa. Many people also speak English, French, and Portuguese. One African country, Nigeria, has 250 different
languages!

There are many different tribes and cultures in Africa. For example, there is the Ashanti people. They live in Ghana. They are famous for their
beautiful Kente cloth. Kente cloth can be different colors. Ashanti people wear clothing made of Kente cloth for important events. There are also
the Madinka people. They live in West Africa - mostly in Senegal, Gambia, and Guinea-Bissau. Some Madinka people also live in Burkina Faso,
Mali, and Cote d'Ivoire. The Madinka people are famous for their music.

They tell their history with music. Most scientists think that the first humans came from Africa. The first written information in Africa comes
from Egypt at around 3300 B.C.E. (B.C.E. means Before the Common Era., or before the year “0’). Egypt is one of the oldest African
civilizations. At that time, Egypt traded with Phoenicia, which is now Lebanon, and includes parts of Israel, Palestine, and Syria. Egypt was
discovered by the ancient Greeks, who were the first Europeans to go to Africa

Sub questions

Question Number : 156 Question Id : 27522810095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percentage of the world's population does Africa constitutes?
Options :

1. * 10%

2.9 15%

3. % 20%

4. % 5%

Question Number : 157 Question Id : 27522810096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage which of the following options is not a major language group?
Options :

1. * Afro-Asiatic

2. # Khoisan

3. * Nilo-Saharan

4. % Nilo-Asiatic

Question Number : 158 Question Id : 27522810097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which part of Africa is Arabic most spoken in?
Options :

1. # East Africa

2. ¥ North Africa

3. % South Africa

4. % West Africa

Question Number : 159 Question Id : 27522810098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage which of the following is statement is incorrect?

Options :

1. # Madinka people love music and tell their history through music.

2. % Most scientists believe that the first humans came from Africa.

3. # Nilo-Asiatic is one of the major languages group of which most languages spoken in Africa belong to.

4. ¥ Africa constitutes 20% of the world population.

Question Number : 160 Question Id : 27522810099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Madinka people are found in which part of Africa?
Options :

1. # North Africa

2. % East Africa

3. ¥ West Africa

4. # South Africa
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Question Number : 161 Question Id : 27522810100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy #, IR Al A T, 39 fawey &1 99+ B3 o fobar & Y arer It fawed gl
ATT-fOdT 31 s § B dRad & |

Options :

1. % gdap1ieres fohd
2.« IR o
3. % Amyrg foean
4. % Ggod o




Question Number : 161 Question Id : 27522810100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed gy |, IR Al 7 ¥, 39 fdwmed &1 994 &3 o1l foba1 o Y arer 9! fawed 8l
AT 3rg- s= § S HRad g |

Options :

1. % gdep1eres foba
2. ¢ TR T
3. % YT foean
4. % Ggad T

Question Number : 162 Question Id : 27522810101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeiRad Uy A, IR fAeeal 7 T, 39 faded &1 999 B o) 3/0g & UE H1 Yol fdbed gl |
I T an 3R it 3o HH WR 9 Y|

Options :

1. % foarfarivor sfeqy
2. v GHINYD 3Ty
3. % fqwmrieaiys sy
4. % YYD T

Question Number : 162 Question Id : 27522810101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaled vy H, IR fowddl 7 9, 39 fdded &1 9a- & ol 3/ & U &1 gl [dbed 8l
Rl Fema R Tt 319 &1H R T4 MU

Options :




1. ® foparfaRivur 3fey
2. ¥ GHEGEIYD 3y
3. % fquqaifadiu® sy
4. % ISP T

Question Number : 163 Question Id : 27522810102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed uy 8, TR ol § T, 39 fAswey &1 999 6% Sl HIgaTas I3 &1 Tt faded 181 3|
Options :

1. # PIAdI

2. % TN

3. ¢ i

4, % WY

Question Number : 163 Question Id : 27522810102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! d 9, 39 [daed &1 997 &< ol HIaarad 931 &1 el [ddhed ol o
Options :

1. % Pl

2. % AW

3. ¢ Riidd

4, % WY

Question Number : 164 Question Id : 27522810103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 faswed 1999 &3 Ol HIFH | AT T et & AR J4TH & W &1 Tt fadbed 8|
fIR SR 71 U1, (@8) die 3 3|




Options :

1. % FAoTarae
2. #® JEY diddh
3. % SUHYRY
4. ¢ (Ayg arEH

Question Number : 164 Question Id : 27522810103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl & T, 39 faswed 1999 &2 ol HIFH | AT T et & AR JdTH & U &1 Gt fadbed 8|

fIR SR 71 U1, (@8) die M 3|
Options :

1. % Saras

2. % I P

3. % JAHYY

4. ¢ (YT 9D

Question Number : 165 Question Id : 27522810104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed oy o, IR fawed! # 9, 39 f9ded &1 997 &< ol HIg® B faU MU Xeg & SR faRwur & Wg are fadwed gl
e & (@THT) TE @R S|

Options :

1. % grd1e

2. % Ay gfHT0r areren
3. ¢ YT G=AGED
4. % TUMETDH

Question Number : 165 Question Id : 27522810104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeiRad us H, TR fadedl # 9, 39 [ddhed BT 70 B Sl HIgD | U T Wsd o AR 4RIV o N arell fdbed gl
e H (@RTHAT) T @R STE |

Options :

1. % qraIHS

2. % AT uRHT arIh
3. ¢ 3T Y=HTaTah

4. % TUETES

Question Number : 166 Question Id : 27522810105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 8, IR fawedl & 9, 39 fadhed &1 999 B Sl Rl Xeg T Ao fadhed 8|
Options :

1. # ek

2. ¢ 3fel

3. % YR

4. % forarit

Question Number : 166 Question Id : 27522810105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed Uy &, IR o edl § 9, 39 fahcd &1 I8 &Y Ol SX1ol Weg b1 et f[dbed gl
Options :

1. ¥ MR

2. ¢ 3fcl

3. % AR

4. % TSt

Question Number : 167 Question Id : 27522810106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 8, IR fasedl T 9, 39 fdded &1 9a & ol faU U Weg & ot gl agsiife Tum & faug &1 fabeu 8|

=111

Options :

1. % 3T & THM HHd arelt gd

2. % A HHA Y

3. % HAA BT T

4. ¢ HUA g 3T g1 Srufd TR

Question Number : 167 Question Id : 27522810106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us H, IR fasedl § 9, 39 fddhed &1 9= B S faU 1T T o foT Hal agsiife 9oy & faug &1 fdwme gl

UG

Options :

1. % 31O & GH HHA aTdll adl

2. % T HAA I

3. % HHA BT I

4. ¢ HUA g 3G ForgepT Srufd IREaa

Question Number : 168 Question Id : 27522810107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faffad uy |, IR faeddl § 9, 39 f[ddhcd &1 99 &2 Sil ST 7TU Weg BT TqH FU Bl

Options :

1. % 3=5d
2. ¥ U




3. % Iq@d
4. % FHWR

Question Number : 168 Question Id : 27522810107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 9, 39 9w cd &1 987 &Y ot faU 7T Yo BT T =T |

SNIEE]
Options :

1. % 3=5d
2. % U
3. % 3
4. % SN

Question Number : 169 Question Id : 27522810108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofied Uy &, 9R fawed! § 9, 39 fawed &1 997 $X Sl SUWH 4 4 Reg $1 g faded 51|
Options :

1. % Ydbold

2. % qlefl

3.9 AR

4. % Fexdl

Question Number : 169 Question Id : 27522810108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad g A, IR el § T, 39 fawey &1 T B ol ST O 4 s BT ol [Abed 8|

Options :
1. # Y[+



2. % gyl
3.« AT
4. % Haxdr

Question Number : 170 Question Id : 27522810109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR ieeal A 9, 39 fawcu o1 9a7 &% Ot feT 7N Yo & YTigaTel Weg &1 ol fdbed A8l § |
gfea

Options :
1. % U
2. ¥ T4
3. % fagH
4. % R

Question Number : 170 Question Id : 27522810109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR foeddl 7 9, 39 fdb ey &1 987 &3 o) 3T 7T Mo & TafaTe) Xec &1 Ug! fdbeu el ¢ |
ClCUIE]

Options :
1. = U
2. ¥ XTd
3. % fdgM
4. % TR

Question Number : 171 Question Id : 27522810110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & 3, 39 9wy 1 T B o {3 e T a9 33T fAped 5|




DR
Options :

1. % fafRry
2. ¢ SigShR
3. % Fgg

4. % gHII

Question Number : 171 Question Id : 27522810110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR iereal 7 9, 39 fahcd o1 987 &3 o fadiH Wsg &1 e 331 faheu g
WIHPR

Options :

1. % fafry
2. ¥ SigHR
3. % [dg

4. % YT

Question Number : 172 Question Id : 27522810111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 9, 39 I8! faped &1 T B3 Sl IR & ol Ueh Yo &1 fadb ey 8|
S fedi s ugaq

Options :

1. % OIRd
2. % Hail
3. % ddd
4, ¢ dc¥



Question Number : 172 Question Id : 27522810111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad v §, IR fawedl § T, 39 I8! faded o1 I H3 Sl il & ol U e o1 fadhed 8|
IRCRS AR I A

Options :

1. % Orid
2. % BIARM
3. % ddd
4, ¥ dcy

Question Number : 173 Question Id : 27522810112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad sy A, IR e § B, 39 I8! fah e &1 99+ B3 o faT 71U Rieg & et 31 1 I faweu gl
EL)

Options :
1. ¥ CIY
2. % diush
3. % ¢
4. % faa9

Question Number : 173 Question Id : 27522810112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAofefad uy A, IR fomeal 7 9, 39 I8! faded &1 T &3 SN foTu 77U wreg & Tgt 31 &1 IfId fadweu g1
ELL)

Options :

1. ¥ T




2. % qUH
3. % S
4. % fgag

Question Number : 174 Question Id : 27522810113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve §, TR faweul § 9, 39 Ua! fawed o7 Tg- &< Sl Rad ®IF & i Iuged Usg &1 98! fddweu g |
o HIFeT fop famT €t eR A A § Y et &t gfewal @ awadr um o SIGE]

Options :
1. % Siiq
2.V Idh
3. % TROT
4. % FEAM U

Question Number : 174 Question Id : 27522810113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl § 9, 39 98! fawed &1 79+ &3 ot Rad R & o Iuged Wss &1 Ual faweu g |
S SRR fos fomT 81 3R I oid § al fora il ot gkl & qoherar ue o S g

Options :
1. % Sid
2.¥ D
3. % TROT
4. % Gl

Question Number : 175 Question Id : 27522810114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us §, TR fawenl § 9, 39 fawey &1 7o &L Sl Y Ueg &1 Wa! fadbea 71



Options :
1. % faugy
2. ¢ [aRIY
3. % a9y
4. % 47y

Question Number : 175 Question Id : 27522810114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawedl § 9, 39 fawed &1 70 &L Sl Y Ve &1 Gal b 7
Options :

1. % fayz

2. ¥ faviy

3. % fqay

4. % 9y

Question Number : 176 Question Id : 27522810115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 faswey &1 7o &3 S Y Ueg &1 Ta! fAwea 71
Options :

1. % Bl

2. % fdt

3. % il

4. BN

Question Number : 176 Question Id : 27522810115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed Uy & IR fawedl § 9, 39 fadmed &1 98 H1 off G e BT el [dhed g

Options :



1. % BN
2. % Rt
3. % f=f
4. BN

Question Number : 177 Question Id : 27522810116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy &, IR eedl 7 9, 39 9w cd o1 987 &Y ot 2T 7T Yo & JAMIT Weg &1 fahey 81 B
Udl -

Options :
1. # dMHl
2. % U
3.9 9gyr
4. % g

Question Number : 177 Question Id : 27522810116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fawedl & T, 39 fawey &1 w9 &3 Ot T U Wsg & TRl wreg o1 fasweu 78t 21
g

Options :
1. % drHl
2. % YAl
3.9 Yl
4. % qf¥d

Question Number : 178 Question Id : 27522810117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFofifed gy §, IR et 7 9, 39 9 e &1 987 &Y oY Hed TWifell U arel faeed g |

Options :
1. % 3+
2. % By
3. % Jd
4. ¢ U

Question Number : 178 Question Id : 27522810117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad vy 4, TR fawel & 9, 39 [y &1 T &Y Sl Geg WifeiT &4 aral fdde g1

Options :
1. % 3Wld
2. % By
3. % Jd
4. ¢ U

Question Number : 179 Question Id : 27522810118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafofaa oy & o fawed # 9, 39 fawey &1 T 6% ot Yed dgas- Ueg T Yo 35T [ddhed 3|
Options :

1. % gl

2. ¢ faamdfoy

3. % Ryurgl

4. % CdT

Question Number : 179 Question Id : 27522810118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Fofafed oy o, IR fawed! & 9, 39 [9@ed &1 997 &< ol Ugd Sgaa- e & Jad 3731 [ddhed |
Options :

1. % gt

2. ¢ famdfaoy

3. % yurgt

4. %

Question Number : 180 Question Id : 27522810119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?yﬁ«r@au&rﬁ,awﬁmtﬁﬁ@r,wﬁmmwﬁﬁﬁmﬁﬁqﬂnw%&wwuqwqmqaWww@rwﬁw
|

Options :

1. () 3TST T8 HTH WH BT 8 o

2. % (%) Tt ot =iiel bt Srevd gt df gt &

3. % (3T0T) T4 BT USY B G|

4. % (3Y) g 91 AT §8d T g

Question Number : 180 Question Id : 27522810119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?aﬁr@au&rﬁ,mﬁwﬁﬁﬁ,wﬁwmwﬁ@ﬁwﬁﬁww%mdwgwqmcpWww@rwﬁw
|

Options :

1. ¢ () 31T 98 HTH T HA1 81 g

2. % (%) Tl oY =ieT 1 SR BINT dl g &

3. % (3PT) X§- BT USY IR G|

4. % (3IY) UG 91 I 9gd ! g




General Hindi2

Group Number : 10

Group Id : 275228372

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 275228573

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228665

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 27522810120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy H, IR fAeeal 7 ¥, 39 faded &1 999 &3 o) feTU TN 919 & &1d &1 ol fddwed gl |
30-3{TY DI W3 IWd dl 3R] ! gid |

Options :

1. % Ife gaHMSTd



2. % Ul Yddbra
3. % IHT HidH®Td
4. ¢ ggedHe Ydbld

Question Number : 181 Question Id : 27522810120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadwedl 7 9, 39 fdded &1 999 &2 o1 fGT TN 9190 & &1d &1 el [ddwed gl
3TA-3(TY P! W= IQd df 3G T2l gl |

Options :

1. ® dfer gdamea
2. % Ul Yadbra

3. % GUIT HfdseTd
4. ¢ gdedye YddId

Question Number : 182 Question Id : 27522810121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawent # 9, 39 fawey &1 7o &L S fou T8 argy & e gfa & e &1 Te o1 fased g |
FUT TS B | A FeradT B

Options :

1. % Jhard
2. % Tegrd
3. % Furgrd
4. ¢ faeny

Question Number : 182 Question Id : 27522810121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied ve o, IR fadwenl O 9, 39 [dded &1 79 &1 S faU T8 ardd & e gii & 9 &1 9ey 3181 [dhed g |
HUUTTBIE B H B Fgrar S|

Options :

1. % ard
2. % Hagrd
3. % Jurard
4. faemd

Question Number : 183 Question Id : 27522810122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 f9h ey o1 Tga B &l feU 77T 919 & ol Uel & U o1 o 331 f[aheu 5|
T8 1 31 4 701 Tl 31l B!

Options :

1. % gUiarEad
2. ¢ AgdEds
3. % JIfaede
4. % JRYIYdH

Question Number : 183 Question Id : 27522810122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ieeal 7 9, 39 fahca &1 987 & ot feU 7T are & fol u&i & Ve &1 9ad 331 faheu g |
Ug ¢ &ieb 4 91 T It B

Options :

1. % gofdrende®
2. ¢ FAgaras
3. % TfaEdd
4, % RUTID



Question Number : 184 Question Id : 27522810123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 5, IR fawedl & 9, 39 fddhed &1 90 o Sl Y a1 &1 oY 33T [dved 5|
Options :

1. % T 3TST 3R HAT A1 §|

2. % T 35T 3RTH BT A8l 5

3. % T 3TN 3RTH HAT TS §|

4.« T 3T R HAT A6 §|

Question Number : 184 Question Id : 27522810123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawent § 9, 39 fawed &1 7 &L Sl Y a1 T Ja 3737 fadhed g |
Options :

1. % T 3T 3RTH H3AT ATeT §|

2. % BH 3TN 3R BT AT6l §

3. % T 367 SR BT AEA G

4. T 3T SR AT A6l §|

Question Number : 185 Question Id : 27522810124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafoRed Uy |, IR fadedl 7 ¥, 39 fdwed &1 999 &3 Il el d1ad He &l f[ddbed 1|
g ae! 5= 2 FOr) ot T faref) ot

Options :

1. % IgId aIR

2. ¢ Ty a1y

3. % Jcgadd A




4. % WA dIH

Question Number : 185 Question Id : 27522810124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy §, IR el 7 9, 39 faweu &1 997 &3 St Tg! ara U &1 fadbeu gl
g I8! o<1 & o) bt TorT favedt &t

Options :

1. % JYad qIrd

2.« Oy are

3. % Yogardad didd

4. % I 91

Question Number : 186 Question Id : 27522810125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufoRed Uy |, IR fadeul 7 ¥, 39 fdwed &1 999 &3 1l el d1ad He &l f[ddbed gl

a1 &l 3R §¥R HH g1 S|
Options :

1. % fayrdTes a1

2. % A dI™

3. % flg g

4. ¢ Hgad A

Question Number : 186 Question Id : 27522810125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy §, IR el 7 9, 39 faweu &1 997 &3 St Ig! ara Ve &1 faweu gl
&aT @l 3R §@R HH g1 Se|




Options :

1. % [qYTarde d1ag
2. % WA IR

3. % Oy arey

4. ¢ Igad a1

Question Number : 187 Question Id : 27522810126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadedl # 9, 39 faddbed &1 9 &3 oif faH g god o) o1 gl [dhed o |
Options :

1. % JISTHHRT A O Bt a1 B ¢t o R Farean ugt firdr off ger s 7 a1d gy

2. % ICHHART A S Bt T &1 < - ot gXd foreen ue, fOdr off 3R a3, B a1d gy

3. % JCTHHRT A SR & T &) a1 at qid Frean ust firar ofh 3eR ez, 39 &1 g

4. ISHHARY A Y B T & <, Al R Faean gy, e St geR 33, A% a1d g

Question Number : 187 Question Id : 27522810126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadedl # 9, 39 fddbey &1 9 &3 oif faxTH g gord aTe’l o1 ol [dehed o1 |
Options :

1. % JOTHHRT A O B RATH B <1 o) QR Faea ug! fUdm St $er 318 3 a1d gy

2. % JCTHHRT A O B T DI ¢ - A1 gid forea gt fiar ot 38R 313, -1 91 gy

3. % JCTHHART A SR B T &1 a1 dl gid FIea Us! fidr ofh 3eR 313, - &rd g

4. JISTHHRT A oI §Y a1 B T, o R Farean ua, e Sit geR 18T, 7 a1d gy

Question Number : 188 Question Id : 27522810127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy ¥, IR fowedl 3 9, 39 fdded &1 9a- & off (R g gad 919 &1 Wal fadbed gl

Options :




1. ¢ HRIGT, B, Aufd, BeraH 99 sR1E¢ § Ugd Y|
2. % PRI A Aufch HergH 9 RIS § Ugd Y|

3. % PR AN T9fh: FaaH 99 SRS H Ugd 1Y
4. % HRTP A9 AufdT? BaaH 96 SR § Ugd Y|

Question Number : 188 Question Id : 27522810127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad us #, IR fadedl | 4, 39 fabed &1 =98 o il fov1H g gord a1e &1 4gt fdebed 811
Options :

1. ¢ HRGT, B, A9, paaH ¥d SRS § Ugd 7Y

2. % PRI AF AUl HergH 96 SRS & Ugd Y|

3. % PR AN: T9fh: FaeH 9d SRS H 9gd 1Y

4. % PHRITP A2 Adfh1? FAcH 96 SR H Ugd Y|

Question Number : 189 Question Id : 27522810128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fasedl # 9, 39 fadbey &1 9 &< it fav g god a1t o1 bal fdabed o |
Options :

1. % T¥ed A Hel IR TR T S13fl gd & - o6 3|

2. ¢ T¥¢d - Hgl, "IR TR T W37, Gd & A1d 96 S

3. % T¥¢d - gl TR TR, Fadi, S3f §d & 1d 96 ofa|

4. % T[¥ed - Bl IR TR T S13fl G & i, 96 S|

Question Number : 189 Question Id : 27522810128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy O, aR fawed! & 4, 39 fdeed &1 99+ o3 ol faR1 g god are) o1 9al fdabed 51|
Options :

1. % T¥ed 4 Bl IR TR T ST13fl g & - o6 S|



2. ¥ T[¥¢d A Hgl, "IR TR T SIS, §d & 1 96 S|
3. % T¥¢d - gl TR TR, Fadi, S3f §d & 1d 96 ofa|
4. % T[¥ed - Bl IR TR T S13fl g & i, 96 S|

Question Number : 190 Question Id : 27522810129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue o, TR fawent # 9, 39 faswey &1 7o &L S fou 78 eTar &1 Iet o aran fawea 71
SRR ST 1 -

Options :

1. % Yift HegAT BT
2. % dSlt ¥ U

3. ¢ R UM oAl

4. % fdgIg BT

Question Number : 190 Question Id : 27522810129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa oy & TR fawe # ¥, 39 fadwed &1 7 &3 off U 7T erer &1 Tet o aran fawey 2|
TR STe &1 -

Options :

1. % Ureft FHegHr HRAT
2. % QSN Y URH

3. ¢ R A oAl

4. % fJQIE BT

Question Number : 191 Question Id : 27522810130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue o, TR fawent # 9, 39 fawed &1 7o &L S fou 78 eTar &1 Iet o aran fawea 71



&4l D1 S UgdHHI -

Options :

1. % Bl

2. ¢ TR B! ATGRIAT DI GgaT-1
3. % TR I URATE F HRAT

4. ® YR T

Question Number : 191 Question Id : 27522810130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 98 &< off [T T ggTar &1 9e! o arar fawed g

a1 1 W UgaHI -

Options :

1. % S

2. ¢ TR B! ATGRIAT DI GgaT-1
3. % TRA P UG8 9 BT

4. % YR AT

Question Number : 192 Question Id : 27522810131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g uy & IR fawe # ¥, 39 fawey &1 7 o3 off U 7T Yerer o1 98t 3 aran fawe g

BTY TR BTY ERAT 96+ -
Options :

1. ¢ Fpm g
2. % ZH I RAGH
3. % YA Y A

4, % Y DAl




Question Number : 192 Question Id : 27522810131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & aR fawed § 9, 39 fadmed &1 98- &< off [T T Tk &1 9e! o aran fawed g

TTY TR §TY ERBT 96+ -
Options :

1. ¢ Fpm g
2. % G Y g g
3. % SSHM Y oA

4. % TN HAl

Question Number : 193 Question Id : 27522810132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaliad Uy & IR foeeal ° T, 39 ey &1 Ta &1 ot <1 71 diopifad &1 Tet 3 arar ey g
BT P B @& -

Options :

1. % 3BTE & A §RTs T

2. ¢ 3T B T6- F 3MeH SIRAR 8 T 8
3. % 3151 BT HTH ST gl Al

4. % QA

Question Number : 193 Question Id : 27522810132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 fdwca &1 987 &8 oY < 715 Albifad &1 Tat 31 arelt fabeu g1
BT B B @I g -

Options :

1. % 3[BTE & A RT3



2. ¥ 3T Hd T8 I 3eH! SRR g Srar g
3. % 3N DT HTH TS 8] HRAT
4. % QT

Question Number : 194 Question Id : 27522810133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ieedl 7 9, 39 fawea &1 987 &< St <t 715 Aibifad &1 Tat 31 arelt faweu g1

Sl Yob BUIR, 81T I 99K -
Options :

1. % U O] HT TR HRAT

2. % 3Ot Tafer H Xg

3. % (ORI Ay |

4. ¢ g fdd o fHadt BT 83 181 gl

Question Number : 194 Question Id : 27522810133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad uy & IR faeedl & T, 39 ey &1 Ta &1 ot <1 71 dipifad &1 Tel 3 arar fdeeu g

FT 4 BOIR, BT I SR -
Options :

1. % U Ok B TR HRAT

2. % 3o+ Fufer # xg

3. % (ORI Y Iy |

4. ¢ TUY e &) Tt &1 ST 81 gial

Question Number : 195 Question Id : 27522810134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 9, 39 fawea &1 987 &8 St <t 715 Albifad &1 Tat 31 arett faweu g1




BT 81T 7 Joell Y H HIg S -
Options :

1. % 3 T Peieb I 3

2. % 3 AN B RT3 To! ¢! Sifeht
3. ¢ XGHId ol daddl

4, % 3fd g gl

Question Number : 195 Question Id : 27522810134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaliad Uy & IR foeal ° ¥, 39 ey &1 Ta &1 ot <1 71 diopifad &1 Tet 3 arar ey g
DI B 7 Il Gl HF AT dTs -

Options :

1. % g3 Id A Hic T 8

2. % §S NN Bt §RTs el ¢! oIt
3. ¢ IGUTd gl daadl

4. % I T gl

Sub-Section Number : 2
Sub-Section Id : 275228666
Question Shuffling Allowed : Yes

Question Id : 27522810135 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

i fou T iR & W1 5 Uy U T €1 39 T ) egde Ue 3R IR fabed H ¥ Udd U Bl FaiH IR I |

ST HAH = T Y030 b HRA P! [AHRIA AP §H BT Heobed ford 5] 3Hb ot 37514 RIam sfiale gam R i o faa &, foraH
TS B al-al AfAferdl oI Riférd B Tateror TRem 8 afe HRA & 0 HRIS §= 4-4 TiY TG ol U 3R US 9O 81 Sddl| S &b
fapTa & SfUTTH! IR SLATUD! BT HHPHT IR YHIRI STeid §U MU $a Y- “3FR fbdll Y BT YPTER Hard 3R FraX a1 @ al
HHTTS 3R SATID B T§ PTH B o T 003 P RI&H-GaH BT Jd HEAT UR ST Y P ATH T = YHIRT B BI 75 U1 DI TH




f&am «TR YR P! fIHRId <= T 3l S O B AHR B b (070 d BB & 19 81 U VDI B AUS -1 dTey, JaTsii &I @y
G BT 3R I8 b Ihd H gga a1y

Sub questions

Question Number : 196 Question Id : 27522810136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST HATH BT AT Hebed U2
Options :

1. % 3T IR P! U S P 3F A Bl
2. ¢ SR D fAD R AP S I

3. % TYTaRU1 &1 TgNUT YUl &1 &1

4. % R Y F&fl DI HH B g B

Question Number : 197 Question Id : 27522810137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrefepr-fead &t gd Hear IR Sidex Ham 3 B Al T3 IR $I o faam
Options :

1. % 91t © RIBR 3R THE 3 B

2. % TRigfep] B1 311 I ¢ Bl

3. ¥ XY & ATH -G YR B Pl

4. % TR1ef! B T G B

Question Number : 198 Question Id : 27522810138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STaeR HATH &b SFTIR Y DI YFTAR Ho 3R Frex I H Fad 31U TganT {hueh1 81 Fobdll o
Options :

1. % el SR gufd &1

2. % T 3R S BT

3. % fqETay SR o=y Al &1




4.« JHHTIP 3R METUD P

Question Number : 199 Question Id : 27522810139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 A PIF - T ISP BT A Wsg 82

Options :
L. * faga
2. % favg
3. ¢ plad

4. % g

Question Number : 200 Question Id : 27522810140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 3w bl Dig IUGerd Ao
Options :

1. % 3D TFHIT

2. ¢ SR B

3. % fRierep foay

4. % GG YIRUI

Question Id : 27522810135 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

3 fou M e o 91 5 Uy AU TR § | 39 IR ®l ATHged g iR dR fawedl B ¥ Udd Uy &1 9arad SR g |

SR B = T Y030 dch HRA D! fABRIA AP §TH BT Hebed ot o) 3o fo1u 3751 RIaM siicle gam R i o faa g, foraH
A% B 4l-al AfRfe! &1 fRfer ) waferor qRem g afe HRA & 0 FRIS T U-4 TIE TIE oY T 3Rd U8 dOR 81 S| <X &
faepTa # SfHHTTHT IR S(eATUD] BT 1T TR YT STeid §U 3MTUA $a YUl- “3FR fobdfl AP BT YSTER Fard 3R JraX ST @ al
3fivTae 3R 3ATD Bl I8 BIH B o T R003 b [R1edh-faad 1 gd Hel W STUA Y &b FH T THIRA B B 8 UL 1 oA




f&am «TR YR P! fIHRId <= T 3l S O B AHR B b (070 d BB & 19 81 U VDI B AUS -1 dTey, JaTsii &I @y
G BT 3R I8 b Ihd H gga a1y

Sub questions

Question Number : 196 Question Id : 27522810136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST HATH BT AT Hebed U2
Options :

1. % 3T IR P! U S P 3F A Bl
2. ¢ SR D fAD R AP S I

3. % TYTaRU1 &1 TgNUT YUl &1 &1

4. % R Y F&fl DI HH B g B

Question Number : 197 Question Id : 27522810137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrefepr-fead &t gd Hear IR Sidex Ham 3 B Al T3 IR $I o faam
Options :

1. % 91t © RIBR 3R THE 3 B

2. % TRigfep] B1 311 I ¢ Bl

3. ¥ XY & ATH -G YR B Pl

4. % TR1ef! B T G B

Question Number : 198 Question Id : 27522810138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STaeR HATH &b SFTIR Y DI YFTAR Ho 3R Frex I H Fad 31U TganT {hueh1 81 Fobdll o
Options :

1. % el SR gufd &1

2. % T 3R S BT

3. % fqETay SR o=y Al &1




4.« JHHTIP 3R METUD P

Question Number : 199 Question Id : 27522810139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 A PIF - T ISP BT A Wsg 82
Options :

L. * faga

2. % faug

3. ¢ plad

4. % g

Question Number : 200 Question Id : 27522810140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3G BT IS IuYad M

Options :

1. % 3AYH VDIV
2. ¢ SR HAH

3. % fRrefep foaw

4. % o= YR



